
PHYSICS

BOOKS - NIKITA PHYSICS (HINGLISH)

ELECTROSTATICS

Multiple Choice Questions

1. The branch of physics which deals with the

study of static charges is

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vCzlZAglDCVw


A. electrostatics

B. current electricity

C. electronics

D. modern physics

Answer: A

Watch Video Solution

2. The static electricity is produced due to

A. conduction

https://dl.doubtnut.com/l/_vCzlZAglDCVw
https://dl.doubtnut.com/l/_VZxZPAay13Pr


B. friction

C. induction

D. all of these

Answer: D

Watch Video Solution

3. A body gains  electrons, by

rubbing, it with another body. Find the charge

on the body.

25 × 1018

https://dl.doubtnut.com/l/_VZxZPAay13Pr
https://dl.doubtnut.com/l/_OGjJ8ElDqvgm


A. charge

B. mass

C. resistance

D. inductance

Answer: A

Watch Video Solution

4. The bodies gets charged when rubbed with

each other due to transfer of

https://dl.doubtnut.com/l/_OGjJ8ElDqvgm
https://dl.doubtnut.com/l/_s2grS7T8eZlP


A. photons

B. atoms

C. molecules

D. electrons

Answer: D

Watch Video Solution

5. The smallest quantity of electricity called as

electrostatic unit of charge is present on

https://dl.doubtnut.com/l/_s2grS7T8eZlP
https://dl.doubtnut.com/l/_l5Ef9GDiUN0D


A. photon

B.  - particle

C. electron and proton

D. none of these

Answer: C

Watch Video Solution

α

6. Which of the following is a scalar quantity ?

A. charge

https://dl.doubtnut.com/l/_l5Ef9GDiUN0D
https://dl.doubtnut.com/l/_bV9l4gfJea2b


B. velocity

C. force

D. electric intensity

Answer: A

Watch Video Solution

7. Like charges repel each other and unlike

charges attract each other was proved by

A. Coulomb

https://dl.doubtnut.com/l/_bV9l4gfJea2b
https://dl.doubtnut.com/l/_yOnPjvHzlq2X


B. Gilbert

C. Faraday

D. Franklin

Answer: B

Watch Video Solution

8. The positive and negative names of the

charges were given by

A. Coulomb

https://dl.doubtnut.com/l/_yOnPjvHzlq2X
https://dl.doubtnut.com/l/_07fUCUSmvNTg


B. Gilbert

C. Aristotle

D. Franklin

Answer: D

Watch Video Solution

9. Electric charge on a body at rest produces

A. electric field

B. magnetic field

https://dl.doubtnut.com/l/_07fUCUSmvNTg
https://dl.doubtnut.com/l/_rh4WFbETTsUl


C. deficiency of electrons

D. both 'a' and 'b'

Answer: A

Watch Video Solution

10. An electrical charge is a

A. scalar quantity

B. vector quantity

C. vector quantity (radial)

https://dl.doubtnut.com/l/_rh4WFbETTsUl
https://dl.doubtnut.com/l/_7ttsngb5wazV


D. none of these

Answer: A

Watch Video Solution

11. The fact that electric charges are integral

multiples of the fundamental electronic

charge was proved experimentally by

A.  - particle

B. proton

α

https://dl.doubtnut.com/l/_7ttsngb5wazV
https://dl.doubtnut.com/l/_WuTb77nffy0f


C. electron

D. a hydrogen ion

Answer: C

Watch Video Solution

12. The electric change in unform motion

produces

A. electric field

B. magnetic field

https://dl.doubtnut.com/l/_WuTb77nffy0f
https://dl.doubtnut.com/l/_32XZIeDqLJN6


C. both 'a' and 'b'

D. neither 'a' nor 'b'

Answer: C

Watch Video Solution

13. The magnitude of electrostatic unit of

charge in S.I. system is

A. 

B. 

1.602 × 10− 19C

9.1 × 10− 31C

https://dl.doubtnut.com/l/_32XZIeDqLJN6
https://dl.doubtnut.com/l/_obbsBgSl52eW


C. 

D. 

Answer: A

Watch Video Solution

3 × 108C

3 × 10− 19C

14. Which of the following phenomena follows

law of conservation of charge ?

A. Electrification by friction

B. Electrification by induction

https://dl.doubtnut.com/l/_obbsBgSl52eW
https://dl.doubtnut.com/l/_wAg5Sdtut668


C. Nuclear reactions

D. All of these

Answer: D

Watch Video Solution

15. When a glass rod is rubbed with silk, it

A. positive charge

B. negative charge

C. can not be charged

https://dl.doubtnut.com/l/_wAg5Sdtut668
https://dl.doubtnut.com/l/_oelyEWdxqOfZ


D. none of these

Answer: A

Watch Video Solution

16. An ebonite rod is rubbed with fur or wool.

What type of charges do they acquire ?

A. positive charge

B. negative charge

C. can not be charged

https://dl.doubtnut.com/l/_oelyEWdxqOfZ
https://dl.doubtnut.com/l/_hokgpRndg72x


D. none of these

Answer: B

Watch Video Solution

17. If an isolated merallic conductor is

positively charged, then its mass will

A. increase

B. decrease

C. remain same

https://dl.doubtnut.com/l/_hokgpRndg72x
https://dl.doubtnut.com/l/_JEkwRk9N7CL2


D. reduce to half of its original mass.

Answer: B

Watch Video Solution

18. If a glass rod is rubbed with silk, it acquires

a positive charge because :

A. protons are added to it

B. protons are removed from it

C. electrons are added to it

https://dl.doubtnut.com/l/_JEkwRk9N7CL2
https://dl.doubtnut.com/l/_0H5snsWtGdCw


D. electrons are removed from it

Answer: C

Watch Video Solution

19. A soap bubble is given a negative charge,

then its radius

A. decreases

B. increases

C. remains unchanged

https://dl.doubtnut.com/l/_0H5snsWtGdCw
https://dl.doubtnut.com/l/_smk0cgFAw556


D. noting can be predicted

Answer: B

Watch Video Solution

20. A positively charged glass rod is brought

near an uncharged pith ball penduium. What

happens to the pith ball ?

A. attracted towards the rod

B. repelled away from the rod

https://dl.doubtnut.com/l/_smk0cgFAw556
https://dl.doubtnut.com/l/_w9RInQTSwn8X


C. not affected by the rod

D. attracted towards the rod, touches it

and is then thrown away from it

Answer: D

Watch Video Solution

21. A polythene piece rubbed with wool is

found to have negative charge of .

Estimate the number of electrons transferred.

3 × 10− 7C

https://dl.doubtnut.com/l/_w9RInQTSwn8X
https://dl.doubtnut.com/l/_Dn6KHNF8I4dS


A.  from wool to polythene

B.  from polythene to wool

C.  from wool to polythene

D.  from wool to polythene.

Answer: A

Watch Video Solution

2.5 × 1012

1.5 × 1012

2.56 × 10− 15

10− 13

22. When a body is charged by induction the

body

https://dl.doubtnut.com/l/_Dn6KHNF8I4dS
https://dl.doubtnut.com/l/_pJGYV4dK2pPJ


A. becomes neutral

B. does not lose any charge

C. loses whole of the charge on it

D. lose part of the charge on it

Answer: B

Watch Video Solution

23. When a piece of polythene is rubbed with

wool, a charge of  is developed−2 × 10− 7C

https://dl.doubtnut.com/l/_pJGYV4dK2pPJ
https://dl.doubtnut.com/l/_jEX99FLK9wqW


on polythene. What is the amount of mass,

which is transferred to polythene.

A. kg

B. kg

C. kg

D. kg

Answer: D

Watch Video Solution

569 × 10− 19

6.25 × 10− 19

9.63 × 10− 19

11.38 × 10− 19

https://dl.doubtnut.com/l/_jEX99FLK9wqW


24. A conductor has been given a charge

 by transferring electron. Mass

increase (in kg) of the conductor and the

number of electrons added to the conductor

are respectively

A. 

B. 

C. 

D. 

Answer: A

−3 × 10− 7C

2.4 × 10− 16C

4.4 × 10− 16C

5.5 × 10− 16C

6.6 × 10− 16C

https://dl.doubtnut.com/l/_yGySnseUYnwp


Watch Video Solution

25. The unit of charge is :

A. Faraday

B. Ampere

C. Coulomb

D. Coulomb / Volt

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_yGySnseUYnwp
https://dl.doubtnut.com/l/_zYhEIaotnrXi


26. State Coulomb's law of electric force

between two charged bodies.

A. Ohm's law

B. Ampere's law

C. Faraday's law

D. Coulomb's law

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_zYhEIaotnrXi
https://dl.doubtnut.com/l/_ekdwCAX9BTak
https://dl.doubtnut.com/l/_CvLnnyAjD3Ww


27. The force between two electrons separated

by a distance r is proportional to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

r3

r1 / 2

r− 1 / 3

r− 2

https://dl.doubtnut.com/l/_CvLnnyAjD3Ww
https://dl.doubtnut.com/l/_6MzL9j4OemP2


28. Coulomb's law is restricted to charged rods

and balls only. This statement is

A. 

B. 

C. often true

D. unpredictable

Answer: B

Watch Video Solution

true

false

https://dl.doubtnut.com/l/_6MzL9j4OemP2


29. A charge  exerts some force on a second

charge  If a third charge  is brought near 

, then the force exerted by  on 

A. decreases

B. increases

C. becomes zero

D. remains constant

Answer: D

Watch Video Solution

q1

q2 q3

q2 q1 q2

https://dl.doubtnut.com/l/_2RXxQ23Z7vbd


30. When the distance between two charged

particles is halved, the force between them will

become

A. one-third

B. one-half

C. four times

D. five times

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7WUNHrBmObro


31. In a hydrogen atom, the distance between

the electron and proton is . The

electricl force of attraction between then will

be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2.5 × 10− 11m

6.3 × 10− 8N

8.2 × 10− 8N

9.6 × 10− 8N

12.2 × 10− 8N

https://dl.doubtnut.com/l/_DScvQ30iNcSs


32. The force of attraction between two

charges 

seperated by a distance of 020m is found to

be . Find the relative permittivity of

the medium.

A. 2 N

B. 50 N

C. 0.5 N

D. 10 N

+30 × 10− 9C and − 20 × 10− 9C

5 × 10− 5N

https://dl.doubtnut.com/l/_DScvQ30iNcSs
https://dl.doubtnut.com/l/_HBiEV6g7eegM


Answer: A

Watch Video Solution

33. Two point charges  and 

 are separated by a

distance  cm. Find the magnitude and

nature of the force between the two charges.

A. 4 N

B. 5 N

C. 9 N

q1 = 2 × 10− 3C

q2 = − 3 × 10− 6C

x = 10

https://dl.doubtnut.com/l/_HBiEV6g7eegM
https://dl.doubtnut.com/l/_DgflU9EBX6Iq


D. 13 N

Answer: C

Watch Video Solution

34. SI unit of permittivity is

A. 

B. 

C. 

D. 

Nm2C − 2

Nm− 2C − 1

C 2N − 1m− 2

Am− 1

https://dl.doubtnut.com/l/_DgflU9EBX6Iq
https://dl.doubtnut.com/l/_msylGrlAf948


Answer: C

Watch Video Solution

35. If the distance between two equal point

charges is doubled and their individual

charges are also doubled, what would happen

to the force between them?

A. halved

B. remain same

C. doubled

https://dl.doubtnut.com/l/_msylGrlAf948
https://dl.doubtnut.com/l/_aDrkIPp33Vla


D. becomes zero

Answer: B

Watch Video Solution

36. In 1820, concept of electric field was

introduced by

A. Faraday

B. Maxwell

C. Coulomb

https://dl.doubtnut.com/l/_aDrkIPp33Vla
https://dl.doubtnut.com/l/_sPXU5zEgOzd9


D. Gilbert

Answer: A

Watch Video Solution

37. Which one of the following statements is

correct ? The space surrounding a charge in

uniform motion has

A. gravitational field

B. electric field

https://dl.doubtnut.com/l/_sPXU5zEgOzd9
https://dl.doubtnut.com/l/_obGvpHFOhAxz


C. magnetic field

D. none of these

Answer: B

Watch Video Solution

38. The quantitative (i.e. both in magnitude

and direction) study of an electric field by

grouping the electric lines of force was first

done by

https://dl.doubtnut.com/l/_obGvpHFOhAxz
https://dl.doubtnut.com/l/_UiitBQXWhWOZ


A. Faraday

B. Maxwell

C. Gilbert

D. Franklin

Answer: B

Watch Video Solution

39. The force experienced by a unit positive

test charge placed at a point is called

https://dl.doubtnut.com/l/_UiitBQXWhWOZ
https://dl.doubtnut.com/l/_zVDL2lJRZXdH


A. magnetic force

B. electric intensity

C. electromotive force

D. electric permittivity

Answer: B

Watch Video Solution

40. Electric intensity at a place due to a charge

is

https://dl.doubtnut.com/l/_zVDL2lJRZXdH
https://dl.doubtnut.com/l/_hqQbC6fhBCAD


A. vector quantity

B. scalar quantity

C. unitless quantity

D. dimensionless quantity

Answer: A

Watch Video Solution

41. STATEMENT -1: Electric field at a point is

always inversely proportional to . 


STATEMENT -2: Electric field due to a line

(dis tan ce)2

https://dl.doubtnut.com/l/_hqQbC6fhBCAD
https://dl.doubtnut.com/l/_5APwA1d7YzYH


charge at a point inversely proportional to

distance .

A. charge

B. size of the charge

C. distance of the point charge

D. square of the distance from the charge

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_5APwA1d7YzYH


42. In S.I. system, unit of electric intensity is

A. 

B. 

C. Nm

D. both 'a' and 'b'

Answer: D

Watch Video Solution

NC − 1

Vm− 1

https://dl.doubtnut.com/l/_nuhxpUhbHN5f


43. The force exerted on a 3 C of charge placed

at a point in an electric field is 9 N. Calculate

the electric field strength at the point.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

375N /C

1500N /C

1666N /C

2000N /C

https://dl.doubtnut.com/l/_Xshgidd2LSAw


44. An electron experiences a force equal to its

weight, when placed in an electric field. The

intensity of the field will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4.36 × 10− 11N /C

5.573 × 10− 11N /C

6.67 × 10− 11N /C

9.86 × 10− 11N /C

https://dl.doubtnut.com/l/_rFSfWgM5PSt3


45. What is electric field intensity at a point at

a distance r meter from q coulomb of a charge

in free space ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1.125 × 109V /m

2.125 × 109V /m

1.525 × 109V /m

2.525 × 109V /m

https://dl.doubtnut.com/l/_6xdDkWsDpKUu


46. Two point charges  placed

along the x - axis are separated by a distance 

. Take  as origin and it is placed at the

right of Q. Then the potential is zero.

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

Q and − Q/4

r

−Q/4

(2/3)a

a/2

3a/2

https://dl.doubtnut.com/l/_OQuf0JNodQdO


47. The magnitude of electric field intensity E

is such that, an electron placed in it would

experience an electrical force equal to its

weight is given by

A. 

B. 

C. mge

D. can not be found

e/mg

mg/e

https://dl.doubtnut.com/l/_OQuf0JNodQdO
https://dl.doubtnut.com/l/_lEvffM9XHkWA


Answer: B

Watch Video Solution

48. In going from the surface of a charged

conducting sphere towards the centre of the

sphere the electric field

A. increases

B. decreases

C. remains the same as on the surface

D. remains zero at every place

https://dl.doubtnut.com/l/_lEvffM9XHkWA
https://dl.doubtnut.com/l/_mZGY7QOA5HrC


Answer: D

Watch Video Solution

49. An electron and a proton are freely

situated in an electric field. Will the electric

forces on them be equal? Will their

acceleration be equal? Explain with reason.

A. zero

B. unity

C. ratio of the mass of proton and electron

https://dl.doubtnut.com/l/_mZGY7QOA5HrC
https://dl.doubtnut.com/l/_YQj8a7WoGGse


D. ratio of the mass of electron and proton

Answer: C

Watch Video Solution

50. Magnetic field at a distance r from an

infinitely long straight conductor carrying

steady varies as

A. a point charge

B. an electric dipole

https://dl.doubtnut.com/l/_YQj8a7WoGGse
https://dl.doubtnut.com/l/_xgSa0kD5cBeM


C. a plane infinite sheet of charge

D. a line charge for infinite length

Answer: D

Watch Video Solution

51. Who observed that a material named

Amber is rubbed with wool, acquires the

property of attracting light bodies ?

A. Edison

https://dl.doubtnut.com/l/_xgSa0kD5cBeM
https://dl.doubtnut.com/l/_YwS7vaCEJj5h


B. Franklin

C. Coulomb

D. Thales

Answer: D

Watch Video Solution

52. The net charge of electrified glass rod silk

system, ebonite rod-wool system is

A. zero

https://dl.doubtnut.com/l/_YwS7vaCEJj5h
https://dl.doubtnut.com/l/_a2UHHGEi7jkG


B. positive

C. negative

D. none of these

Answer: A

Watch Video Solution

53. Electricity on the moist day

A. increases

B. decreases

https://dl.doubtnut.com/l/_a2UHHGEi7jkG
https://dl.doubtnut.com/l/_XbREJPFY3wyb


C. leaks

D. spreads

Answer: C

Watch Video Solution

54. The work done in bringing a unit positive

charge from infinity to the given point against

the direction of electric intensity is

A. electric potential

https://dl.doubtnut.com/l/_XbREJPFY3wyb
https://dl.doubtnut.com/l/_RZBev7wa2J6T


B. magnetic potential

C. gravitational potential

D. none of these

Answer: A

Watch Video Solution

55. The strength of electric field at a point is

represented by a scalar, called as

A. electric intensity

https://dl.doubtnut.com/l/_RZBev7wa2J6T
https://dl.doubtnut.com/l/_fYELZsMs8x7M


B. electric potential

C. gravitational intensity

D. none of these

Answer: B

Watch Video Solution

56. The work require to displace charge q from

infinity to given point is W, then electric

potential at that point is

https://dl.doubtnut.com/l/_fYELZsMs8x7M
https://dl.doubtnut.com/l/_T2Dnzcu5Fq72


A. 

B. Wq

C. 

D. 

Answer: A

Watch Video Solution

W /q

q/W

q2W

57. Electric potential is a …………….. Quantity and

its units are …………… .

https://dl.doubtnut.com/l/_T2Dnzcu5Fq72
https://dl.doubtnut.com/l/_riuPemeUYoe6


A. scalar quantity

B. vector quantity

C. unitless quantity

D. dimensionless quantity

Answer: A

Watch Video Solution

58. Which of the following is a volt :

A. joule / coulomb

https://dl.doubtnut.com/l/_riuPemeUYoe6
https://dl.doubtnut.com/l/_QpPT16lcXzwY


B. erg / coulomb

C. coulomb / joule

D. coulomb / erg

Answer: A

Watch Video Solution

59. An equipotential surface is that surface on

which each and every point has

A. same potential

https://dl.doubtnut.com/l/_QpPT16lcXzwY
https://dl.doubtnut.com/l/_hejriyyDr7UZ


B. zero potential

C. negative potential

D. different potential

Answer: A

Watch Video Solution

60. Two plates are  apart, a potential

difference of  volt is applied between them,

the electric field between the plates is

2cm

10

https://dl.doubtnut.com/l/_hejriyyDr7UZ
https://dl.doubtnut.com/l/_gAVa41kM5uuT


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

400N /C

600N /C

1000N /C

800N /C

61. The neagative gradient of potential at any

point in electric field is

https://dl.doubtnut.com/l/_gAVa41kM5uuT
https://dl.doubtnut.com/l/_lLATDeIOyM6Z


A. electric intensity

B. electric flux

C. electric dipole moment

D. none of these

Answer: A

Watch Video Solution

62. Electric intensity is directed along the

direction at which electric potential

https://dl.doubtnut.com/l/_lLATDeIOyM6Z
https://dl.doubtnut.com/l/_sGFB0Wqcil2c


A. increases

B. decreases

C. remains same

D. cannot be found

Answer: B

Watch Video Solution

63. When a charge is moved against the

Coulomb's force of an electric field, then

https://dl.doubtnut.com/l/_sGFB0Wqcil2c
https://dl.doubtnut.com/l/_j7vsDhAetBf4


A. work is done by the electric field

B. energy of the system is decreased

C. strength of the field is decreased

D. energy is used from some outside

source

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_j7vsDhAetBf4


64. In bringing an electron towards another

electron, the electrostatic potential energy of

the system

A. decreases

B. increases

C. becomes zero

D. remains same

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_qE1ugLRgZv49


65. The correct relation between electric

intensity E and electric potential V is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

V × Δr

−
Δr

ΔV

−
ΔV

Δr

( )
2

ΔV

Δr

https://dl.doubtnut.com/l/_OPxI7dXZqpYt
https://dl.doubtnut.com/l/_OmbITYczYo49


66. Statement I: If electric potential in certain

region is constant, then the electric field must

be zero in this region. 

Statement II: .

A. can only be zero throughout the region

B. can only be uniform throughout the

region

C. can be zero or uniform throughout the

region

→
E = − v̂

dV

dr

https://dl.doubtnut.com/l/_OmbITYczYo49


D. can bot be uniform throughout the

region

Answer: C

Watch Video Solution

67. If a unit positive charge is taken from one

point to another over an equipotential surface

,then

A. work is done on the charge

https://dl.doubtnut.com/l/_OmbITYczYo49
https://dl.doubtnut.com/l/_X7rwLq3gRCJO


B. no work is done

C. work done is constant

D. work is done by the charge

Answer: B

Watch Video Solution

68. Assertion(A): In bringing an electron

towards a proton electrostatic potential

energy of the system increases 

https://dl.doubtnut.com/l/_X7rwLq3gRCJO
https://dl.doubtnut.com/l/_H6xo5E8uM3hy


Reason (R ) :Potential due to proton is

positive.

A. increases

B. decreases

C. remain unchanged

D. becomes zero

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_H6xo5E8uM3hy


69. Can a body have charge and still be at zero

potential

A. yes, always

B. yes, but not always

C. never

D. depends upon the nature of charge

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_CLCXFwN3f5LL
https://dl.doubtnut.com/l/_jh3xJKMNUJmp


70. Can a body have electric potential and still

be uncharged

A. yes, always

B. yes, but not always

C. never

D. depends upon the type of potential

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jh3xJKMNUJmp


71. If an electron moves from rest from a point

at which potential is  volt to another point

at which potential is  volt, then its kinetic

energy in the final state will be

A. joule

B. erg

C. electron-volt

D. newton

Answer: C

Watch Video Solution

50

70

https://dl.doubtnut.com/l/_mV0P88jiVxUr


Watch Video Solution

72. Two equal and opposite charges separated

by a finite distance is

A. electric dipole

B. electric torque

C. electric dipole moment

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_mV0P88jiVxUr
https://dl.doubtnut.com/l/_wVxZh2yW1D9p


73. The product of positive charge and

distance between the two charges is

A. electric dipole

B. electric dipole moment

C. electric flux

D. electric intensity

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_wVxZh2yW1D9p
https://dl.doubtnut.com/l/_7Ax8Itvd2SWQ


74. In S.I. system, coulomb-meter is unit of

A. electric intensity

B. electric potential

C. electric flux

D. electric dipole moment

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_3iljdOaQKseN


75. The torque acting on an electric dipole of

moment p held at an angle  with an electric

field E is ………. .

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

θ

pE sin θ

pE cos θ

pE tan θ

pE secθ

https://dl.doubtnut.com/l/_HZS3LVuJlKLA


76. An electric dipole in a uniform electric field

experiences (When it is placed at an angle 

with the field)

A. force only

B. torque only

C. both force and torque

D. neither a force nor a torque

Answer: B

Watch Video Solution

θ

https://dl.doubtnut.com/l/_xyHJRD160eeG


77. An electric dipole consists of two opposite

charges of magnitude  separated by a

distance of .The dipole is placed in an

electric filled .The maximum

torque that the field exert on the dipole is

A. 

B. 

C. 

D. 

Answer: C

1μC

2cm

10− 5Vm− 1

0.2 × 10− 3Nm

1 × 10− 3Nm

2 × 10− 3Nm

4 × 10− 3Nm

https://dl.doubtnut.com/l/_9X1oG3RUIoRN


Watch Video Solution

78. What is the anle between the electric

dipole moment and the elcetric field strength

due to it on the equatorial line

A. 

B. 

C. 

D. none of these

Answer: A

0∘

90∘

180∘

https://dl.doubtnut.com/l/_9X1oG3RUIoRN
https://dl.doubtnut.com/l/_aUDeKq2vLjGV


Watch Video Solution

79. When a negative charge is taken at a

height from earth's surface, then its potential

energy

A. decreases

B. increases

C. remains unchanged

D. will become infinity

Answer: B

https://dl.doubtnut.com/l/_aUDeKq2vLjGV
https://dl.doubtnut.com/l/_IeO6kHp1rMHN


Watch Video Solution

80. The electric field at a point due to a point

charge is  and electric potential at

that point is . Calculate the distance

of the point from the charge and the

magnitude of the charge.

A. 2500 V

B. 22500 V

C. 2000 V

20NC − 1

10JC − 1

https://dl.doubtnut.com/l/_IeO6kHp1rMHN
https://dl.doubtnut.com/l/_yb0SSo8bYVZK


D. 20500 V

Answer: B

Watch Video Solution

81. If E = 0 at all points on a closed surface

A. electric flux through the surface is zero

B. the total charge enclosed by the surface

is zero

C. no charge resides on the surface

https://dl.doubtnut.com/l/_yb0SSo8bYVZK
https://dl.doubtnut.com/l/_ZHM0ZTNLUqc0


D. all of these

Answer: D

Watch Video Solution

82. A particle having positive charge is

released from rest in the electric field and

moves under the influence of both electric

field and gravity. The quantity connected with

the charged particle that increases

continuously with time is

https://dl.doubtnut.com/l/_ZHM0ZTNLUqc0
https://dl.doubtnut.com/l/_S58V62NcOHV1


A. electric charge

B. kinetic energy

C. electric potential energy

D. gravitational potential energy

Answer: B

Watch Video Solution

83. The path traced by a unit positive charge in

an electric field is

https://dl.doubtnut.com/l/_S58V62NcOHV1
https://dl.doubtnut.com/l/_G0Glhm4CLUGm


A. electric line of force

B. magnetic line of force

C. both 'a' and 'b'

D. neuther 'a' nor 'b'

Answer: A

Watch Video Solution

84. Electric lines of force about negative point

charge are

https://dl.doubtnut.com/l/_G0Glhm4CLUGm
https://dl.doubtnut.com/l/_55rZoDBFkW3m


A. circular, anticlockwise

B. circular, clockwise

C. radial inward

D. radial outward

Answer: C

Watch Video Solution

85. Which of the following statement is correct

in case of lines of charge ?

https://dl.doubtnut.com/l/_55rZoDBFkW3m
https://dl.doubtnut.com/l/_ZYszOI5eaz65


A. they originate from positive charge and

end at negative charge

B. they do not pass through conductor

C. they exhibit longitudinal tension and

lateral pressure

D. all of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ZYszOI5eaz65


86. Give two properties of electric lines of

force. Sketch them for an isolated positive

point charge and an electric dipole.

A. positive charge

B. neutral charge

C. negative charge

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_5OPvRegtXF9K


87. The electric lines of force do not passes

through

A. metals

B. conductors

C. semiconductors

D. all of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_MjwNFiHEq6Kw
https://dl.doubtnut.com/l/_PJ0k4TkUXOH6


88. The electric field intensity on the surface of

a charged conductor is

A. zero

B. maximum

C. infinity

D. 

Answer: A

Watch Video Solution

∈ E

https://dl.doubtnut.com/l/_PJ0k4TkUXOH6


89. There is force of repulsion between two

like charges, because electric lines of force

A. exert lateral pressure on one another

B. exert normal pressure on one another

C. exert no pressure on one another

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_dknrXsH6d5zc
https://dl.doubtnut.com/l/_NkcjekKczLJ5


90. There is force of attraction between two

unlike charges because lines of force have

tendency

A. to shrink along their length and they are

under tension

B. to intersect each other

C. to elongate along their length

D. none of these

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_NkcjekKczLJ5


91. The properties of electric lines of force,

tubes of force and tubes of induction are

A. never similar

B. approximately similar

C. exactly similar

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_NkcjekKczLJ5
https://dl.doubtnut.com/l/_3Mgcb7qT8cJo


92. The line of force are always

A. perpendicular to the surface of charged

body

B. parallel to the surface of charged body

C. inclined to the surface of charged body

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jN5fs6IsKs31
https://dl.doubtnut.com/l/_rfREua4C5krS


93. Assetrion: Electric lines of force never cross

each other. 

Reason: Electric field at a point superimpose

to give one resultant electric field

A. intersect with each other

B. diverging

C. converging

D. parallel to each other

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_rfREua4C5krS


94. If electric field is uniform, then the electric

lines of forces are :

A. parallel and equally spaced

B. perpendicular and equally spaced

C. diverging

D. converging

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_rfREua4C5krS
https://dl.doubtnut.com/l/_3WJFfcaWS6ao


95. The figure shows the electric lines of force

emerging from a charged body. If the electric

fields at A and  and  respectively and if

the the distance between A anf B is r, then 

A. 

B. 

EA EB

EA > EB

EA < EB

https://dl.doubtnut.com/l/_x1r4wOeX3C4y


C. 

D. cannot be predicted

Answer: A

Watch Video Solution

EA = EB

96. The given figure gives electric line of force

due to two charges  and . What are theq1 q2

https://dl.doubtnut.com/l/_x1r4wOeX3C4y
https://dl.doubtnut.com/l/_rVvOle4AucYf


signs of the two charges ? 

A. Both are positive

B. Both are negative

C.  is positive but  is negative

D.  is negative but  is positive

Answer: B

Watch Video Solution

q1 q2

q1 q2

https://dl.doubtnut.com/l/_rVvOle4AucYf


97. Which of the following figures cannot

possibly represent electrostatic field lines 

A. I, ii, iii, iv

B. I, ii, iii only

C. I, iii, iv only

https://dl.doubtnut.com/l/_rVvOle4AucYf
https://dl.doubtnut.com/l/_i35JIb1INFDM


D. ii, iii, iv only

Answer: C

Watch Video Solution

98. The number of electric lines of force

passing normally through unit area is called

A. electric flux

B. magnetic flux

C. flux density

https://dl.doubtnut.com/l/_i35JIb1INFDM
https://dl.doubtnut.com/l/_ctjsP09HgxKD


D. none of these

Answer: A

Watch Video Solution

99. The dot product of E and normal area ds,

calculated over the closed surface, is

A. electric field

B. electric flux

C. electric potential

https://dl.doubtnut.com/l/_ctjsP09HgxKD
https://dl.doubtnut.com/l/_pXFfA7hjZ4Sr


D. all of these

Answer: B

Watch Video Solution

100. Electric flux in an electric field  through

area vector  is given by

A. 

B. 

C. 

→
E

→
ds

→
E ×

→
ds

→
E ⋅

→
ds

→
E /

→
ds

https://dl.doubtnut.com/l/_pXFfA7hjZ4Sr
https://dl.doubtnut.com/l/_RQbqpsDhxXUa


D. 

Answer: B

Watch Video Solution

→
ds/

→
E

101. A cylinder of radius R and length L is

placed in a uniform electric field E parallel to

the axis. The total flux for the surface of the

cylinder is given by

A. 2πR2E

https://dl.doubtnut.com/l/_RQbqpsDhxXUa
https://dl.doubtnut.com/l/_MM1ULGYA1Zcw


B. 

C. 

D. zero

Answer: D

Watch Video Solution

πR2E

πRE2 /2

102. The number of electric lines of force

passing normally through unit area is called

A. flux density

https://dl.doubtnut.com/l/_MM1ULGYA1Zcw
https://dl.doubtnut.com/l/_bt6PxNxbkrMz


B. electric intensity

C. both 'a' and 'b'

D. neither 'a' nor 'b'

Answer: C

Watch Video Solution

103. If the dielectric constant of a medium

increases then the number of electric lines of

force passing through that medium

https://dl.doubtnut.com/l/_bt6PxNxbkrMz
https://dl.doubtnut.com/l/_3mKfi8PrmoL8


A. decreases

B. increases

C. remains same

D. none of these

Answer: A

Watch Video Solution

104. Lines of force cut equipotential surface

A. obliquely

https://dl.doubtnut.com/l/_3mKfi8PrmoL8
https://dl.doubtnut.com/l/_yp9i3z5PUV9J


B. normally

C. tangentially

D. at 

Answer: B

Watch Video Solution

45∘

105. A charged particle is projected

perpendicular to the direction of uniform

electric field. It's path in the region of the field

will be

https://dl.doubtnut.com/l/_yp9i3z5PUV9J
https://dl.doubtnut.com/l/_JCO7uj42mRDO


A. elliptic

B. linear

C. circular

D. parabolic

Answer: D

Watch Video Solution

106. One electron volt is equal to

A. erg1.6 × 10− 12

https://dl.doubtnut.com/l/_JCO7uj42mRDO
https://dl.doubtnut.com/l/_Ut8GArmItg1w


B. erg

C. 300 erg

D.  erg

Answer: A

Watch Video Solution

4.8 × 10− 10

1/300

107. One giga electron volt (1 Gev) is equal to

A.  eV

B.  eV

108

109

https://dl.doubtnut.com/l/_Ut8GArmItg1w
https://dl.doubtnut.com/l/_QrqcAI67g4RW


C. eV

D.  eV

Answer: D

Watch Video Solution

1010

1012

108. Mathematically, the electric flux 

through small area ds placed in electric field E

is given by

A. 

(ϕ)

dsE cos θ

https://dl.doubtnut.com/l/_QrqcAI67g4RW
https://dl.doubtnut.com/l/_qPRexX1RHb8o


B. 

C. 

D. both 'a' and 'b'

Answer: D

Watch Video Solution

→
ds ⋅

→
E

→
E /

→
ds

109. An arbitrary surface encloses a dipole.

What is the electric flux through this surface ?

A. zero

https://dl.doubtnut.com/l/_qPRexX1RHb8o
https://dl.doubtnut.com/l/_FR4HlTQ2lhir


B. positive

C. negative

D. infinite

Answer: A

Watch Video Solution

110. A plane area of  is placed in

uniform electric field of  such that

the angle between area vector and electric

field is . The electric flux over the surface is

100cm2

100N /C

60∘

https://dl.doubtnut.com/l/_FR4HlTQ2lhir
https://dl.doubtnut.com/l/_4jZKJ7oQnaHD


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1Nm2 /C

2Nm2 /C 2

3Nm2 /C 2

0.5Nm2 /C

111. A point charge of C is situated at the

centre of a cube of side 1m. Calculate the

electric flux through its surface.

10− 7

https://dl.doubtnut.com/l/_4jZKJ7oQnaHD
https://dl.doubtnut.com/l/_tU1QAdZkFWVo


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

113 × 104Nm2 /C

11.3 × 104Nm2 /C

1.13 × 104Nm2 /C

22 × 104Nm2 /C

112. The product of small area element and

normal component of electric intensity is

https://dl.doubtnut.com/l/_tU1QAdZkFWVo
https://dl.doubtnut.com/l/_bePpIHwiu58M


A. electric flux

B. flux density

C. electric potential

D. charge density

Answer: A

Watch Video Solution

113. The total electric flux  through the entire

area of a closed surface is given by

ϕ

https://dl.doubtnut.com/l/_bePpIHwiu58M
https://dl.doubtnut.com/l/_Sjcd2cBtKu58


A. 

B. 

C. both 'a' and 'b'

D. none of these

Watch Video Solution

ϕ = ∮
→
E ×

→
ds

ϕ = ∮
→
E ⋅

→
ds

114. The concept of electric tubes of force was

decveloped by

A. Faraday

https://dl.doubtnut.com/l/_Sjcd2cBtKu58
https://dl.doubtnut.com/l/_D2DtvnCH2EaS


B. Maxwell

C. Gilbert

D. Coulomb

Answer: B

Watch Video Solution

115. The group of limited number of lines of

force forming a tube like structure in air

medium is

https://dl.doubtnut.com/l/_D2DtvnCH2EaS
https://dl.doubtnut.com/l/_ES9De1GpdBk7


A. tube of force

B. tube of induction

C. tube of charge

D. none of these

Answer: A

Watch Video Solution

116. The group of limited number of lines of

force forming a tube like structure in dielectric

medium is

https://dl.doubtnut.com/l/_ES9De1GpdBk7
https://dl.doubtnut.com/l/_rzQwsvcaiPKb


A. tube of force

B. tube of induction

C. tube of air

D. none of these

Answer: B

Watch Video Solution

117. The total number of tubes of force passing

normally through the given area is called as

https://dl.doubtnut.com/l/_rzQwsvcaiPKb
https://dl.doubtnut.com/l/_FyTqS5r4DljL


A. electric flux

B. flux density

C. electric intensity

D. both 'b' and 'c'

Answer: A

Watch Video Solution

118. The total number of tubes of force passing

normally through the given area is called as

https://dl.doubtnut.com/l/_FyTqS5r4DljL
https://dl.doubtnut.com/l/_ZhlqEmczFTNu


A. electric flux

B. flux density

C. electric intensity

D. both 'b' and 'c'

Answer: D

Watch Video Solution

119. The number of tubes of induction

originating from a unit positive charge is

https://dl.doubtnut.com/l/_ZhlqEmczFTNu
https://dl.doubtnut.com/l/_shgSC5lgogn6


A. 1

B. 

C. 

D. 

Answer: A

View Text Solution

q/ ∈0

q ∈0

∈0

120. The number of tubes of force originating

from a charge of magnitude q are

https://dl.doubtnut.com/l/_shgSC5lgogn6
https://dl.doubtnut.com/l/_i8XXeyHWMHkN


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

q

∈0 k

q

∈0

q ∈0 k

∈0 k

q

121. The tubes of induction that originate from

a charge q are

https://dl.doubtnut.com/l/_i8XXeyHWMHkN
https://dl.doubtnut.com/l/_kWBjw6l0sXgp


A. 

B. q

C. 

D. 

Answer: B

Watch Video Solution

∈

q/ ∈0

q/ ∈0 k

122. The number of tubes of force emerging

normally through unit area of sphere's surface

https://dl.doubtnut.com/l/_kWBjw6l0sXgp
https://dl.doubtnut.com/l/_L6QHUeN4mdMH


drawn around a charge q in medium of

permittivity  is . It is also called as

A. electric intensity

B. coulomb's force

C. electric potential

D. none of these

Answer: A

Watch Video Solution

∈
q

4π ∈ r2

https://dl.doubtnut.com/l/_L6QHUeN4mdMH


123. The number of tubes originating from a

point charge of  in a medium of

dielectric constant 5 are

A. 100

B. 200

C. 300

D. 400

Answer: B

Watch Video Solution

8.85 × 10− 9C

https://dl.doubtnut.com/l/_lbOq3xbhLSEH


124. A cubical Gaussian surface encloses

electric flux of  per unit permittivity of a

charge ,the electric flux through each face of

the cube per unit permittivity is

A. 30 C

B. 5 C

C. 1 C

D. 0.5 C

Answer: B

Watch Video Solution

30C

https://dl.doubtnut.com/l/_v6U0vp6Swa4L


125. The total number of tubes of force

passing normally through the given area is

called as

A. normal electric induction

B. total normal electric induction

C. electric potential

D. electric power

Answer: A

https://dl.doubtnut.com/l/_v6U0vp6Swa4L
https://dl.doubtnut.com/l/_LdbZzN8lpx2x


Watch Video Solution

126. The product of electric intensity and

permittivity constant of a dielectric medium is

called

A. total normal electric induction

B. normal electric induction

C. electric potential

D. electric energy

Answer: B

https://dl.doubtnut.com/l/_LdbZzN8lpx2x
https://dl.doubtnut.com/l/_DVmT2OcpcW1h


Watch Video Solution

127. The product of N.E.I. and given surface

area of the closed surface is called as

A. total normal electric induction

B. normal electric induction

C. electric potential

D. electric energy

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_DVmT2OcpcW1h
https://dl.doubtnut.com/l/_iZ4dKYfvyzlz


128. The total number of tubes of induction

passing normally through the given area is

called as

A. normal electric induction

B. total normal electric induction

C. electric potential

D. electric power

Answer: B

https://dl.doubtnut.com/l/_iZ4dKYfvyzlz
https://dl.doubtnut.com/l/_fek13pyx2H3S


View Text Solution

129. If a charge q is placed at the centre of

imaginary sphere of radius r then the N.E.I. at

a point on such a sphere is

A. 

B. 

C. 

D. both 'b' and 'c'

Answer: D

4πr2

q

q

4πr2

∈0 kE

https://dl.doubtnut.com/l/_fek13pyx2H3S
https://dl.doubtnut.com/l/_guypKqzIuWto


Watch Video Solution

130. The product of permittivity  of a

medium the normal component of electric

intensity  and the given small area

(ds) is called as

A. T. N. E. I. over small area ds

B. T. N. E. I. over entire area of a closed

surface

C. electrostatic potential energy

( ∈0 k)

(E cos θ)

https://dl.doubtnut.com/l/_guypKqzIuWto
https://dl.doubtnut.com/l/_eyti2kF0jyMq


D. all of these

Answer: A

View Text Solution

131. A point charge of 3 mC is situated in air at

the centre of a sphere of radius 10 cm. Find

the T.N.E.I. through a portion of the surface of

the sphere which subtends an angle of 

steradian at its centre.

A. 0.375 mC

π/2

https://dl.doubtnut.com/l/_eyti2kF0jyMq
https://dl.doubtnut.com/l/_imL004gRidVe


B. 0.573 mC

C. 0.735 mC

D. 0.473 mC

Answer: A

Watch Video Solution

132. Two ball bearings, one having a radius of 2

mm and a surface charge density equal to

 and another having a radius of 1mm

and a surface density of charge equal to

5μC /m2

https://dl.doubtnut.com/l/_imL004gRidVe
https://dl.doubtnut.com/l/_bGq3xy7r8FbD


 are situated inside a closed

surface. The T.N.E.I. over the closed surface is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−2μC /m2

1.262 × 10− 10C

1.262 × 10− 8C

2.262 × 10− 8C

2.262 × 10− 10C

https://dl.doubtnut.com/l/_bGq3xy7r8FbD


133. Which of the following law gives a relation

between the electric flux through any closed

surface and the charge enclosed by the

surface ?

A. Coulomb's law

B. Charle's law

C. Newton's law

D. Gauss's law

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_CozDpoaVoyls


Watch Video Solution

134. Gauss's law helps in

A. determination of electric field due to

symmetric charge distribution

B. determination of electric potential due

to symmetric charge distribution

C. determination of electric flux

D. situations where Coulomb's law fails

Answer: A

https://dl.doubtnut.com/l/_CozDpoaVoyls
https://dl.doubtnut.com/l/_PL7hi6GLqFxT


View Text Solution

135. Gauss's theorem is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ϕ =
π ∈0

q

ϕ =
q

∈0

ϕ = 4π ∈0 ρ

ϕ = 4π ∈0

https://dl.doubtnut.com/l/_PL7hi6GLqFxT
https://dl.doubtnut.com/l/_VRCvwTRyScnY


136. A Gaussian surface enclosed no charge.

Which of the following is true for a point

inside it ?

A. electric field must be zero

B. electric potential must be zero

C. both electric potential and intensity

must be zero

D. none of these

Answer: A

https://dl.doubtnut.com/l/_VRCvwTRyScnY
https://dl.doubtnut.com/l/_An2V5DIzPOaG


Watch Video Solution

137. Gauss's theorem

A. does not hold, if the closed surface

enclosed a discrete distribution of

charges

B. does not hold, if the closed surface

encloses, a line, a surface or a volume

charge distribution

https://dl.doubtnut.com/l/_An2V5DIzPOaG
https://dl.doubtnut.com/l/_tyz7EJk1Gkw2


C. holds, if the surface encloses a point

charge only

D. holds irrespective of the form in which

charges are enclosed by the closed

surface.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_tyz7EJk1Gkw2


138. The total normal electric induction over a

closed surface is equal to the algebraic sum of

the charges enclosed by the surface' is the

statement of

A. Gauss's theorem

B. Coulomb's theorem

C. Loop theorem

D. Junction theorem

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_j0JSYmWIfwuz


Watch Video Solution

139. If the charge lies outside the closed

surface then by Gauss's theorem, T.N.E.I. over

that surface will be

A. zero

B. positive

C. 

D. 2 q

Answer: A

n

∑
i= 1

qi

https://dl.doubtnut.com/l/_j0JSYmWIfwuz
https://dl.doubtnut.com/l/_KSAzAlNyqDmX


Watch Video Solution

140. Gauss's theorem is true for any point

charge situated any where

A. outside the surface

B. inside the surface

C. on the surface

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KSAzAlNyqDmX
https://dl.doubtnut.com/l/_94u46oSi9rJQ


141. If negative charge is enclosed by the

surface, then the T. N. E. I. over the surface will

be

A. directed outwards and considered

positive

B. directed inwards and considered

positive

C. directed outwards and considered

negative

https://dl.doubtnut.com/l/_94u46oSi9rJQ
https://dl.doubtnut.com/l/_7UzMxxk4qNzd


D. directed inwards and considered

negative

Answer: D

Watch Video Solution

142. The solid angle substended at any point

inside the surface due to small area ds is given

by

A. 
ds cos θ

r2

https://dl.doubtnut.com/l/_7UzMxxk4qNzd
https://dl.doubtnut.com/l/_GJ3goy532ZvV


B. 

C. 

D. 

Answer: A

Watch Video Solution

dsr2

cos θ

ds cos θr2

r2

ds cos θ

143. The electric charges of +9C, -10C and -8C

are enclosed anywhere by a closed surface.

T.N.E.I. through that surface is

https://dl.doubtnut.com/l/_GJ3goy532ZvV
https://dl.doubtnut.com/l/_51KpNJOCrBkI


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−9C

+9C

5C

4C

144. If infinite parallel plane sheet of a metal is

charged to charge density  coulomb per

square metre in a medium of dielectric

σ

https://dl.doubtnut.com/l/_51KpNJOCrBkI
https://dl.doubtnut.com/l/_KpZWXOBjpTrm


constant K. Intensity of electric field near the

metallic surface will be

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

E =
σ

∈0 k

E =
σ

2 ∈0 k

E = σ22 ∈0 k

E = σ

https://dl.doubtnut.com/l/_KpZWXOBjpTrm


145. Electric intensity at a point near a charged

sphere of charge q is given by

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

E = ⋅
1

4π ∈0 K

q

r2

E = ⋅
1

2π ∈0 K

q

r

E =
σ

∈0 k

https://dl.doubtnut.com/l/_oyblK02TGGe1
https://dl.doubtnut.com/l/_6J8P0hKixzGU


146. A cylinder of length L has a charge of

magnitude q. The electric intensity at a point

at a distance r from the axis of the cylinder is

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

E = ⋅
1

4π ∈0 K

q

r2

E = ⋅
1

2π ∈0 k

q

rL

E = σ/ ∈0 k

https://dl.doubtnut.com/l/_6J8P0hKixzGU
https://dl.doubtnut.com/l/_NxSne2HvnPpA


147. The electric intensity at a point near a

charged conductor of surface charge density 

is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

σ

E = σ/ ∈0 k

E = σ ∈0 k

E = σ/2 ∈0 k

E = σ2

https://dl.doubtnut.com/l/_NxSne2HvnPpA


148. A sphere of radius R has a charge density

. The electric intensity at a point at a

distance r from its centre is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

σ

E =
σR2

∈0 kr2

E =
σ

∈0 k

E = R2

E = ∈0 kr2σ2

https://dl.doubtnut.com/l/_9yEqKciGCTDY


149. A charge +q is placed at the mid point of a

cube of side L. The electric flux emerging from

cube is

A. 

B. 

C. 

D. zero

Answer: A

Watch Video Solution

q

∈0

q

6L2 ∈0

6qL2

∈0

https://dl.doubtnut.com/l/_C6rytHQWd4pk


150. The electric flux through a hemispherical

surface of radius R placed in a uniform electric

field E parallel to the axis of the circular plane

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(2πR)E

(πR2)E

( πR3)E
4
3

( πR3)E
2

3

https://dl.doubtnut.com/l/_9IM7vUo5rCT0


151. Electric field intensity at a point is

inversely proportional to cube of its distance

due to

A. a point charge

B. an infinite line charge

C. an electric dipole

D. an infinite plane sheet of charge

Answer: C

https://dl.doubtnut.com/l/_9IM7vUo5rCT0
https://dl.doubtnut.com/l/_D9TlGmAxMHy6


Watch Video Solution

152. Electric intensity at a point due to a

charged cylinder of infinite length is inversely

proportional to its

A. distance

B. square of distance

C. cube of distance

D. none of these

Answer: A

https://dl.doubtnut.com/l/_D9TlGmAxMHy6
https://dl.doubtnut.com/l/_bBtpkNITqd5o


Watch Video Solution

153. The electric field inside a spherical shell of

uniform surface charge density is

A. zero

B. uniform

C. non uniform

D. proportional to distance from the centre

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bBtpkNITqd5o
https://dl.doubtnut.com/l/_vEXSmCNQmTou


154. As one penetrates uniformly charged

conducting sphere,what happens to the

electric field strength

A. increases

B. decreases

C. remains the same as at the surface

D. is zero at all points

Answer: D

https://dl.doubtnut.com/l/_vEXSmCNQmTou
https://dl.doubtnut.com/l/_1vyScRhGXDF4


Watch Video Solution

155. Inside a hollow charged spherical

conductor, the potential

A. increases with distance

B. is a constant

C. decreases with distance from centre

D. is zero

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1vyScRhGXDF4
https://dl.doubtnut.com/l/_TlYn1qqYiZ9o


156. A hollow metal ball carrying an electric

charge produces no electric field at points

A. interior point

B. outer point

C. beyond 2 m

D. beyond 10 m

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_TlYn1qqYiZ9o
https://dl.doubtnut.com/l/_h4DLCwwe4jrk


157. A hollow metal sphere of radius  is

charged so that the potential on its surface is

. The potential at the centre of the sphere

is

A. 0 V

B. 10 V

C. same as at a point 5 cm away from the

surface

D. same as at a point 25 cm away from the

surface

5cm

10V

https://dl.doubtnut.com/l/_2jQ8XS0zHY4h


Answer: B

Watch Video Solution

158. A spherical shell of radius R has a charge

+q units. The electric field due to the shell at a

point

A. inside is zero and varies as  outside

it

B. inside is constant and varies as 

r− 1

r− 2

https://dl.doubtnut.com/l/_2jQ8XS0zHY4h
https://dl.doubtnut.com/l/_hr06kEEZCCu3


C. inside is zero and varies as  outside

it

D. inside is constant and varies as 

outside it

Answer: C

Watch Video Solution

r− 2

r− 1

159. The intensity of electric field at a point

due to charged conductor of any shape or

plane charged sheet is

https://dl.doubtnut.com/l/_hr06kEEZCCu3
https://dl.doubtnut.com/l/_89earbWmpijS


A. independent of distance of that point

B. depends on distance of that point

C. independent of charge density and

surrounding medium

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_89earbWmpijS


160. The charge deposited per unit area of the

surface is called

A. linera charge density

B. surface charge density

C. charge density

D. all of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_wFl2FOc6ZKVb
https://dl.doubtnut.com/l/_sCcIvADCG6UL


161. If  is surface density of charge on the

charged cylinder of radius R, then electric

intensity E at outer point at a distance r from

its axis is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

σ

σR

∈0 kr

σr

∈0 kR

σ

∈0 k

σ2R

∈0 kr

https://dl.doubtnut.com/l/_sCcIvADCG6UL


162. The charge deposited per unit length of

cylinder is called as

A. linear charge density

B. surface charge density

C. charge density

D. all of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_sCcIvADCG6UL
https://dl.doubtnut.com/l/_ZedQuKw12qIP


163. The charge density on the surface of a

conducting sphere is  and

the electric intensity at a distance of 2 m from

the centre of the sphere is . The

radius of the sphere is

A. 0.83 m

B. 0.4 m

C. 0.6 m

D. 0.38 m

Answer: A

64 × 10− 7C /m2

4π × 104N /C

https://dl.doubtnut.com/l/_JOFsM9gCPBFn


Watch Video Solution

164. An isolated conducting sphere of radius

0.1m placed in vacuum carries a positive

charge of . Find the electric intensity at

a point at a distance 0.2 m from the centre of

the sphere.

A. 

B. 

C. 

0.1μC

2.25 × 102N /C

2.25 × 104N /C

2.52 × 102N /C

https://dl.doubtnut.com/l/_JOFsM9gCPBFn
https://dl.doubtnut.com/l/_2KLyGGkB1I96


D. 

Answer: B

Watch Video Solution

2.52 × 104N /C

165. A conductor having a charge density of

 is surrounded by a medium of

dielectric constant 4. The electric intensity at a

point very near the charged conductor is

A. 

120μC /m2

9.33 × 106N /C

https://dl.doubtnut.com/l/_2KLyGGkB1I96
https://dl.doubtnut.com/l/_ti5UU1hIwiLI


B. 

C. 

D. 

Answer: D

Watch Video Solution

3.39 × 108N /C

9.33 × 108N /C

3.389 × 106N /C

166. A metal sphere of radius 5 cm is charged

to 100 V. Electric intensity at a point on its

surface is

https://dl.doubtnut.com/l/_ti5UU1hIwiLI
https://dl.doubtnut.com/l/_FKuIm3xE6k0L


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

20kV /m

0.2kV /m

2kV /m

100kV /m

167. The electric intensity at a point distant 1 m

from the centre of a sphere of radius 25 cm in

https://dl.doubtnut.com/l/_FKuIm3xE6k0L
https://dl.doubtnut.com/l/_iwmZbFB4imTZ


air is . The surface density of the

charge on the surface of sphere is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

104N /C

1.416μC /m2

2.416μC /m2

1.446μC /m2

2μC /m2

https://dl.doubtnut.com/l/_iwmZbFB4imTZ


168. A charged of  is given to a

metallic sphere of radius 5 cm placed in a

medium of dielectric constant 5. The surface

charge density of sphere is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

8 × 10− 6C

2.547 × 10− 4C /m2

5.248 × 10− 4C /m2

25.48 × 10− 4C /m2

52.48 × 10− 4C /m2

https://dl.doubtnut.com/l/_0zUtLlZFXaPp


Watch Video Solution

169. A charge of  is given to a

metal cylinder of length 10 cm, placed in air.

The electric intensity due to the cylinder at a

distance of 0.2 m from its axis is

A. 

B. 

C. 

D. 

5 × 10− 10C

150V /m

250V /m

350V /m

450V /m

https://dl.doubtnut.com/l/_0zUtLlZFXaPp
https://dl.doubtnut.com/l/_WYX5GqbSKIwL


Answer: D

Watch Video Solution

170. The electric intensity due to a charged

conducting cylinder of radius 0.1 m at a

distance of 1 m from the axis of the cylinder of

charge density  in a dielectric

medium of dielectric constant 2 is

A. 

B. 

1.77μC /m

2 × 105V /m

1.5 × 104V /m

https://dl.doubtnut.com/l/_WYX5GqbSKIwL
https://dl.doubtnut.com/l/_6FlMJqruKQpH


C. 

D. 

Answer: B

Watch Video Solution

2.59 × 105V /m

4 × 105V /m

171. A metal cylinder of length 2 km is charged

with . The linear charge density of

the cylinder is

A. 

2 × 10− 2C

10μC /m

https://dl.doubtnut.com/l/_6FlMJqruKQpH
https://dl.doubtnut.com/l/_QOMwXpChETt5


B. 

C. 

D. 

Answer: A

Watch Video Solution

20μC /m

5μC /m

30μC /m

172. A charged cylinder of radius 2 cm has

surface density of charge .

It is placed in a medium of dielectric constant

8.85 × 10− 9C /m2

https://dl.doubtnut.com/l/_QOMwXpChETt5
https://dl.doubtnut.com/l/_T6LfiPJGgMAX


5. The electric intensity at a point at a distance

of 4 m from its axis is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

5V /m

4V /m

3V /m

1V /m

https://dl.doubtnut.com/l/_T6LfiPJGgMAX


173. The surface density of charge on a

conductor situated in air, is .

The electric intensity at a point very near to its

surface is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 × 10− 4C /m2

2.259 × 107N /C

2.261 × 109N /C

3.321 × 107N /C

3.321 × 109N /C

https://dl.doubtnut.com/l/_zPqBVbBhiCX4


Watch Video Solution

174. An electric cable of diameter 10 cm runs

under water for a distance of 5 km. If the cable

carries a charge of 0.01 C on its surface then

its linear charge density is

A. 

B. 

C. 

D. 

2μC /m

0.5μC /m

4μC /m

1.5μC /m

https://dl.doubtnut.com/l/_zPqBVbBhiCX4
https://dl.doubtnut.com/l/_fsQ5HIkmBZhl


Answer: A

Watch Video Solution

175. A circular metal plate of radius 10 cm is

given a charge of  on its surface. The

charge density of the plate is

A. 

B. 

C. 

D. 

20μC

3.185 × 10− 6C /m2

2 × 10− 6C /m2

3 × 10− 9C /m2

3.184 × 10− 4C /m2

https://dl.doubtnut.com/l/_fsQ5HIkmBZhl
https://dl.doubtnut.com/l/_EkpKwRs5ApIe


Answer: D

Watch Video Solution

176. The surface density of charge on the

earth's surface is . If the

radius of the earth is 6400 km then the charge

carried by the earth is

A. 

B. 

C. 

2.65 × 10− 9C /m2

1.363 × 106C

1.364 × 109C

3.364 × 106C

https://dl.doubtnut.com/l/_EkpKwRs5ApIe
https://dl.doubtnut.com/l/_8tyVB1tSeoVk


D. 

Answer: A

Watch Video Solution

2.396 × 106C

177. The mechanical force acting on a unit area

of a charged conductor is

A. 

B. 

C. 

f =
σ2

2 ∈0 k

f =
σ

2 ∈0 k

f =
σ2

∈0 k

https://dl.doubtnut.com/l/_8tyVB1tSeoVk
https://dl.doubtnut.com/l/_42kD0T2Wk408


D. 

Answer: A

Watch Video Solution

f =
σ

∈0 k

178. The mechanical stress of a charged

conductor is directly proportional to

A. square of surface charge density

B. square of electric intensity

C. both 'a' and 'b'

https://dl.doubtnut.com/l/_42kD0T2Wk408
https://dl.doubtnut.com/l/_CXSQI5gtzeAM


D. neither 'a' nor 'b'

Answer: C

View Text Solution

179. A metal surface of area  is charged

with  in air. The mechanical force

acting on it is

A. 1 N

B. 0.5 N

1m2

√8.85μC

https://dl.doubtnut.com/l/_CXSQI5gtzeAM
https://dl.doubtnut.com/l/_7DleMxVe1Eqo


C. 10 N

D. 50 N

Answer: B

Watch Video Solution

180. In an electron gun, the electrons are

accelerated by the potential . If the  is the

charge and  is the mass of the electron, then

the maximum velocity of these electrons will

be

V e

m

https://dl.doubtnut.com/l/_7DleMxVe1Eqo
https://dl.doubtnut.com/l/_T1pa4Xqp4dG0


A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

√
eV

m

√
e

Vm

√
2eV
m

181. A charged conductor of area ds is placed

in electric field of strength E. The force acting

on unit area of the conductor is

https://dl.doubtnut.com/l/_T1pa4Xqp4dG0
https://dl.doubtnut.com/l/_MTpUKDACCGyi


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

∈0 kE2

2

∈0 k

2E

E2

2 ∈0 k

∈0 kE2

182. The mechanical stress of a charged

conductor of charge density  is always

directed outwards because

σ

https://dl.doubtnut.com/l/_MTpUKDACCGyi
https://dl.doubtnut.com/l/_mx2G4ZT3yKai


A.  is always negative

B.  is always positive

C.  is zero

D. none of these

Answer: B

Watch Video Solution

σ2

σ2

σ

183. A metal sphere of radius 10 cm is given a

charge of . The force acting on unit area

of its surface is

12μC

https://dl.doubtnut.com/l/_mx2G4ZT3yKai
https://dl.doubtnut.com/l/_RixujaVmEtuC


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5.151 × 102N /m2

5.15 × 103N /m2

515 × 10− 2N /m2

5.15 × 10− 3N /m2

184. Inside a hollow charged spherical

conductor, the potential

https://dl.doubtnut.com/l/_RixujaVmEtuC
https://dl.doubtnut.com/l/_QndsargX4yjp


A. is constant

B. varies directly as the distance from the

centre

C. varies inversely as the distance from the

centre

D. varies inversely as the square of the

distance from the centre

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_QndsargX4yjp
https://dl.doubtnut.com/l/_XxfjRRoBO3Lh


185. The energy per unit volume of a dielectric

medium is directly proportional to square of

A. relative permittivity

B. charge

C. electric intensity

D. both 'a' and 'b'

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_XxfjRRoBO3Lh
https://dl.doubtnut.com/l/_lqpJVcwS60iv


186. The energy density of air medium is

. The intensity of the

electric field in the medium is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

44.25 × 10− 8J /m3

300N /C

3N /C

305N /C

316.2N /C

https://dl.doubtnut.com/l/_lqpJVcwS60iv
https://dl.doubtnut.com/l/_m9ak33YUchv3


187. The energy density of a medium of

dielectric constant k surrounding the charged

conductor is

A. 

B. 

C. 

D. both 'a' and 'b'

Answer: D

Watch Video Solution

σ2

2 ∈0 k

∈0 kE21

2

σ

∈0 k

https://dl.doubtnut.com/l/_m9ak33YUchv3
https://dl.doubtnut.com/l/_iuh4BSG8mltd


188. Calculate the energy per unit volume of a

medium of dielectric constant 3, if the

intensity of the electric field is .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

100V /m

1.328 × 10− 8J /m3

4.2 × 10− 8J /m3

13.28 × 10− 8J /m3

42 × 10− 8J /m3

https://dl.doubtnut.com/l/_iuh4BSG8mltd


189. The electrostatic energy stored in the 1

litre volume of air when it is placed in uniform

electric field of intensity  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

103V /m

44.25 × 10− 9J

4.425 × 10− 9J

44.25 × 10− 6J

44.25 × 10− 5J

https://dl.doubtnut.com/l/_nyR76aMTZqZn


190. A potential difference of 50 V is

maintained between the two plates of a

parallel plate condenser, separated by 5 mm of

air. The energy stored in unit volume of air

between the plates of the condenser is

A. 

B. 

C. 

D. 

Answer: A

4.425 × 10− 4J /m3

2.425 × 10− 4J /m3

8.425 × 10− 4J /m3

6.425 × 10− 4J /m3

https://dl.doubtnut.com/l/_9CGmZ9snkzSx


Watch Video Solution

191. A cube of marble of each side 5m long is

placed in electric field of intensity of .

The amount of electrostatic energy stored in

marble of dielectric constant 8 is

A. 

B. 

C. 

D. 

3kV /m

39.82 × 10− 3J

4.982 × 10− 2J

9.832 × 10− 3J

8.392 × 10− 3J

https://dl.doubtnut.com/l/_9CGmZ9snkzSx
https://dl.doubtnut.com/l/_QBX8l58gHvQe


Answer: A

Watch Video Solution

192. A small sphere carries a charge of .

The energy density of electric field at a point

25 cm away from the centre of the sphere in

air is

A. 

B. 

C. 

20μC

0.367J /m3

3.67J /m3

36.7J /m3

https://dl.doubtnut.com/l/_QBX8l58gHvQe
https://dl.doubtnut.com/l/_bk5ZxBEo2V6y


D. 

Answer: C

Watch Video Solution

3.76J /m3

193. Due to polarisation the electric field inside

a dielectric is

A. decreased

B. increased

C. remains same

https://dl.doubtnut.com/l/_bk5ZxBEo2V6y
https://dl.doubtnut.com/l/_cXEPPp2mnN6E


D. may increase or may decrease

depending the upon material

Answer: A

Watch Video Solution

194. If the dielectric constant and dielectirc

strength be denoted by  and  respectively,

then a meterial suitable for use as a dielectric

in a capacitor must have

K x

https://dl.doubtnut.com/l/_cXEPPp2mnN6E
https://dl.doubtnut.com/l/_VmxcP65xqYuI


A. high K and high X

B. high K and low X

C. low K and high X

D. low K and low X

Answer: A

Watch Video Solution

195. A molecule in which centre of gravity of

positive nuclei and revolving electrons do not

coincide is

https://dl.doubtnut.com/l/_VmxcP65xqYuI
https://dl.doubtnut.com/l/_FuuwI2js3xKs


A. polar molecule

B. non polar molecule

C. bipolar molecule

D. unipolar molecule

Answer: A

Watch Video Solution

196. Polar molecules have permanent

A. resistance

https://dl.doubtnut.com/l/_FuuwI2js3xKs
https://dl.doubtnut.com/l/_YVz44y7zS4L2


B. current

C. electric dipole moment

D. magnetic flux

Answer: C

Watch Video Solution

197. Which of the following is example of polar

molecule ?

A. H2O

https://dl.doubtnut.com/l/_YVz44y7zS4L2
https://dl.doubtnut.com/l/_GNU8jiD3NDBR


B. 

C. 

D. 

Answer: A

Watch Video Solution

O2

H2

CO2

198. A molecule in which centre of gravity of

positive nuclei and revolving electrons

coincide is

https://dl.doubtnut.com/l/_GNU8jiD3NDBR
https://dl.doubtnut.com/l/_QT1Z2iaczQ62


A. polar molecule

B. non polar molecule

C. bipolar molecule

D. unipolar molecule

Answer: B

Watch Video Solution

199. Non polar molecules have donot

permanent

https://dl.doubtnut.com/l/_QT1Z2iaczQ62
https://dl.doubtnut.com/l/_SGjJvNYUoqQi


A. force

B. pressure

C. electric dipole moment

D. torque

Answer: C

Watch Video Solution

200. Which of the following is example of non

polar molecule ?

https://dl.doubtnut.com/l/_SGjJvNYUoqQi
https://dl.doubtnut.com/l/_tkO2yuhNxTZw


A. 

B. HCl

C. 

D. 

Answer: A

Watch Video Solution

H2

H2O

HO2

201. The electric dipole moment per unit

volume of electric dipole is

https://dl.doubtnut.com/l/_tkO2yuhNxTZw
https://dl.doubtnut.com/l/_mu8khLNIJ1c9


A. polarisation

B. diffraction

C. interference

D. reflection

Answer: A

Watch Video Solution

202. The ratio of polarisation to electric

intensity is

https://dl.doubtnut.com/l/_mu8khLNIJ1c9
https://dl.doubtnut.com/l/_y8G9AFnUm1EY


A. electric permitivity

B. electric susceptibility

C. electric flux

D. electric torque

Answer: B

Watch Video Solution

203. The amount of induced surface charge

per unit area of the surface is

https://dl.doubtnut.com/l/_y8G9AFnUm1EY
https://dl.doubtnut.com/l/_bgO5zFD2qARl


A. polarisation

B. torque

C. electric dipole

D. electric flux

Answer: A

Watch Video Solution

204. Which of the following is vector ?

A. electric potential

https://dl.doubtnut.com/l/_bgO5zFD2qARl
https://dl.doubtnut.com/l/_zLWHDVqYkcuo


B. elctric charge

C. electric polarisation

D. electirc flux

Answer: C

Watch Video Solution

205. A conductor is said to have a capacity of

one farad, when a ………. Raise its …… by ……….. .

A. capacity of conductor

https://dl.doubtnut.com/l/_zLWHDVqYkcuo
https://dl.doubtnut.com/l/_t1XgjtI6ptCT


B. inductance of conductor

C. resistance of conductor

D. none of these

Answer: A

Watch Video Solution

206. An arrangement which increases charge

storing capacity without an appreciable

increase in its potential is

https://dl.doubtnut.com/l/_t1XgjtI6ptCT
https://dl.doubtnut.com/l/_S7d5H84TVrtN


A. resistor

B. conductor

C. inductor

D. capacitor

Answer: D

Watch Video Solution

207. Unit of capacitance is

A. henry

https://dl.doubtnut.com/l/_S7d5H84TVrtN
https://dl.doubtnut.com/l/_3eA3ThisOZUM


B. ohm

C. farad

D. volt

Answer: C

Watch Video Solution

208. Which of the following represents the

dimensions of Farad

A. joule/volt

https://dl.doubtnut.com/l/_3eA3ThisOZUM
https://dl.doubtnut.com/l/_9lYzPKS6nPDu


B. volt/coulomb

C. coulomb/volt

D. coulomb/joule

Answer: C

Watch Video Solution

209. The relation between electric charge,

electric potential and capacity is

A. C =
Q

V

https://dl.doubtnut.com/l/_9lYzPKS6nPDu
https://dl.doubtnut.com/l/_v1JuIgxWWUVb


B. 

C. V=QC

D. all of these

Answer: A

Watch Video Solution

C =
V

Q

210. The capacity of a parallel plate condenser

is given by

A. C =
Q

V

https://dl.doubtnut.com/l/_v1JuIgxWWUVb
https://dl.doubtnut.com/l/_zFMo4w4MjCyL


B. 

C. 

D. C = A.d.

Answer: B

Watch Video Solution

C =
Ak ∈0

d

C =
d

Ak ∈0

211. The capacity of a parallel plate condenser

is inversely proportional to the

A. dielectric constant of the medium

https://dl.doubtnut.com/l/_zFMo4w4MjCyL
https://dl.doubtnut.com/l/_BHm0lF8KUJRE


B. area of the plate

C. length of the plate

D. distance between the two plates

Answer: D

Watch Video Solution

212. The capacity of a parallel plate condenser

depends upon

A. area of the plate

https://dl.doubtnut.com/l/_BHm0lF8KUJRE
https://dl.doubtnut.com/l/_2L8LYXN4arUD


B. distance between the two plates

C. permittivity constant of a dielectric

medium

D. all of these

Answer: D

Watch Video Solution

213. A capacitor works in

A. A. C. circuits

https://dl.doubtnut.com/l/_2L8LYXN4arUD
https://dl.doubtnut.com/l/_r4Awez7KKtOR


B. D. C. circuits

C. both 'a' and 'b'

D. neither 'a' nor 'b'

Answer: C

Watch Video Solution

214. To reduce the capacity of a parallel plate

condenser, separation between the plates is

https://dl.doubtnut.com/l/_r4Awez7KKtOR
https://dl.doubtnut.com/l/_FK1FTs7sKDGb


A. reduced and area of the plates

decreased

B. decreased and area of the plates

increased

C. increased and area of the plates

decreased

D. increased and area of the plates

increased

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_FK1FTs7sKDGb


215. In a charged capacitor, the energy is

stored in

A. the negative charges

B. the positive charges

C. the field between the plates

D. both 'a' and 'b'

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_FK1FTs7sKDGb
https://dl.doubtnut.com/l/_pJARORBzDyJA


216. A parallel plate capacitor is charged and

then isolated. The effect of increasing the

plate separation on charge, potential and

capacitance respectively are

A. constant, decreases, decreases

B. increases, decreases, decreases

C. constant, deareases, increases

D. constant, increases, decreases

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_jwjH0L6mLrDH


217. A parallel plate capacitor is made by

stacking n equally spaced plates connected

alternatively. If the capacitance between any

two adjacent plates is 'C' then the resultant

capacitance is

A. C

B. n C

C. (n + 1)C

D. (n - 1)C

https://dl.doubtnut.com/l/_jwjH0L6mLrDH
https://dl.doubtnut.com/l/_JJMGrpQYi8kI


Answer: D

Watch Video Solution

218. One pico Farad is equal to

A. 

B. 

C. 

D. 

Answer: D

10− 9F

10− 19F

10− 109F

10− 12F

https://dl.doubtnut.com/l/_JJMGrpQYi8kI
https://dl.doubtnut.com/l/_nVdXsFt1kDzR


Watch Video Solution

219. When a parallel plate capacitor is

connected to a source of constant potential

difference

A. all the charge drawn from source is

stored in the capacitor

B. the potential difference across capacitor

grows very rapidly initially and this rate

decreases to zero eventually

https://dl.doubtnut.com/l/_nVdXsFt1kDzR
https://dl.doubtnut.com/l/_FvStJ0NzsdJJ


C. only half of the energy drawn from the

source is dissipated outside the

capacitor

D. all of these

Answer: D

Watch Video Solution

220. When two identical capacitors are

charged individually to different potentials &

https://dl.doubtnut.com/l/_FvStJ0NzsdJJ
https://dl.doubtnut.com/l/_btHHkovq2is4


then connected in parallel, after disconnecting

from the source then

A. net charge = sum of initial charges

B. net potential difference  sum of

individual initial potential difference

C. net energy stored  sum of individual

initial energy

D. all of these

Answer: D

Watch Video Solution

≠

∠

https://dl.doubtnut.com/l/_btHHkovq2is4


221. If  is the electric field intensity of an

electrostatic field, then the electrostatic

energy density is proportional to

A. E

B. 

C. 

D. 

Answer: B

Watch Video Solution

E

E2

1/E2

E3

https://dl.doubtnut.com/l/_btHHkovq2is4
https://dl.doubtnut.com/l/_CDEhLcRoSqDg


222. A parallel plate capacitor is charged. If the

plates are pulled apart

A. the potential difference increases

B. the capacitance increases

C. the total charge increases

D. the charge and the potential difference

remain the same

Answer: A

https://dl.doubtnut.com/l/_CDEhLcRoSqDg
https://dl.doubtnut.com/l/_og7MxueWER4p


Watch Video Solution

223. Charge present on the clouds are due to

A. motion of water drops

B. earth's magnetic field

C. lightning

D. motion of the clouds

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_og7MxueWER4p
https://dl.doubtnut.com/l/_MAsrzpIyg3OF


224. The accumulation of charge on clouds,

which produces lightning, is caused by

A. rain drops changing into electrons

B. the electric field of the earth

C. ionisation by the sun

D. electrification due to motion of water

molecules.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_j1JDB7iayhml


225. The capacitance of a parallel plate

condenser does not depend upon

A. area of the plates

B. metal of the plates

C. medium between the plates

D. distance between the plates

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_j1JDB7iayhml
https://dl.doubtnut.com/l/_b0L8qWTsBSNK
https://dl.doubtnut.com/l/_WRypChixERA2


226. The energy stored in a capacitor of

capacity C and potential V is given by

A. 

B. 

C. 0.5 CV

D. 

Answer: B

Watch Video Solution

0.5C 2V

0.5CV 2

0.5C 2V 2

https://dl.doubtnut.com/l/_WRypChixERA2
https://dl.doubtnut.com/l/_c9xHiWiq8f24


227. If two charged conductors are brought in

contact, then they show

A. gain in energy

B. loss of some energy

C. gain in charge

D. loss of same charge

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_c9xHiWiq8f24


228. Two conducting spheres of radii  and 

are equally charged. The ratio of their

potentral is-

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

r1 r2

r2

r1

r1

r2

(r1 /r2)2

(r2 /r1)2

https://dl.doubtnut.com/l/_Kn6qPIW3A9Ok


229. The ratio of charge to potential of a body

is known as

A. inductance

B. resistance

C. conductance

D. capacitance

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_BPcdsKqNLRmL
https://dl.doubtnut.com/l/_yqqYuSRcvKat


230. An arrangement which consist of two

conductors separated by a dielectric medium

is called

A. resistor

B. inductor

C. rectifier

D. capacitor

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_yqqYuSRcvKat
https://dl.doubtnut.com/l/_N6sHO9Cx7eLy


231. The earthed conductor plate of a

condenser helps to

A. decrease the potential of charged

conductor

B. increase the potential of charged

conductor

C. keep constant the potential of charged

conductor

D. none of these

https://dl.doubtnut.com/l/_N6sHO9Cx7eLy


Answer: A

Watch Video Solution

232. The ohmic resistance of a condenser for

D.C. current is

A. finite

B. infinite

C. zero

D. V /1

https://dl.doubtnut.com/l/_N6sHO9Cx7eLy
https://dl.doubtnut.com/l/_X7Wpe6steF2V


Answer: B

Watch Video Solution

233. The condenser always block D. C. permits

A. pulsating current through it

B. alternating current through external

circuit

C. only half cycle of alternating current

through it

https://dl.doubtnut.com/l/_X7Wpe6steF2V
https://dl.doubtnut.com/l/_FdO1vmNR3Q13


D. none of these

Answer: B

Watch Video Solution

234. The condenser always stores the amount

of

A. magnetic energy

B. electrostatic energy

C. electric field

https://dl.doubtnut.com/l/_FdO1vmNR3Q13
https://dl.doubtnut.com/l/_9gwNIg4ET29m


D. both 'b' and 'c'

Answer: D

Watch Video Solution

235. The capacitance of earth of radius R

treating as spherical conductor is

A. 

B. 

C. 

4π ∈0 R

4πR

∈0

R

https://dl.doubtnut.com/l/_9gwNIg4ET29m
https://dl.doubtnut.com/l/_wZeWuV3oNqdU


D. 

Answer: A

Watch Video Solution

4π ∈0

R

236. Earth's surface is considered to be at

A. zero potential

B. negative potential

C. positive potential

D. infinite potential

https://dl.doubtnut.com/l/_wZeWuV3oNqdU
https://dl.doubtnut.com/l/_5kFUNmSHlkVr


Answer: A

Watch Video Solution

237. By keeping the charge on a capacitor

unchanged, the energy of capacitor can be

decreased by

A. increasing dielectric constant of the

medium between the plates

B. decreasing the dielectric constant of the

medium between the plates

https://dl.doubtnut.com/l/_5kFUNmSHlkVr
https://dl.doubtnut.com/l/_myS8iBvRJGEp


C. making the dielectric constant zero

D. none of these

Answer: A

Watch Video Solution

238. The capacitance of a capacitor does not

depend upon

A. either charge Q or potential V

B. area of either plates

https://dl.doubtnut.com/l/_myS8iBvRJGEp
https://dl.doubtnut.com/l/_OTimJazDaLBt


C. distance between the plates

D. nature of medium between the plates

Answer: A

Watch Video Solution

239. Two copper spheres A and B of same radii,

one hollow and the other solid are charged to

the same potential. Which of the two will hold

more charge

https://dl.doubtnut.com/l/_OTimJazDaLBt
https://dl.doubtnut.com/l/_g9P7WsEFTHe3


A. A

B. B

C. solid sphere can not hold any charge

D. both the spheres will hold the same

charge

Answer: D

Watch Video Solution

240. The dielectric constant of a metal is

https://dl.doubtnut.com/l/_g9P7WsEFTHe3
https://dl.doubtnut.com/l/_EaoBM4Cw0H80


A. zero

B. one

C. k

D. 

Answer: D

Watch Video Solution

∞

241. A sphere is constructed around a positive

point charge q. The work done in moving a

https://dl.doubtnut.com/l/_EaoBM4Cw0H80
https://dl.doubtnut.com/l/_8odz2yWldtdf


unit positive charge on this sphere is

numerically equal to

A. infinity

B. zero

C. capacity of sphere

D. potential of sphere

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8odz2yWldtdf


242. The capacity of a parallel plate condenser

is C. When the distance between the plates is

halved, its capacity is

A. 2 C

B. C

C. 0.25 C

D. 0.2 C

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_GF9G79TZnyz5


243. The dielectric constant k for an insulator

cannot be

A. 4

B. 5

C. 9

D. infinity

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_qZPmIA1fvzuH
https://dl.doubtnut.com/l/_VXeIsSB7YyVd


244. A capacitor is connected to a battery of

20 V, so that a charge of  is obtained at

the plates. The capacitance of the capacitor is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

100μC

6μF

5μF

9.5μF

10μF

https://dl.doubtnut.com/l/_VXeIsSB7YyVd
https://dl.doubtnut.com/l/_4yrRQhxvOQZ5


245. Six identical capacitors are joined in

parallel, charged to a potential difference of 10

V, separated and then connected in series.

Then the potential difference between the free

plates is

A. 10 V

B. 30 V

C. 60 V

D. 

Answer: C

( )V
10

6

https://dl.doubtnut.com/l/_4yrRQhxvOQZ5


Watch Video Solution

246. The plates of a parallel plate capacitor are

charged up to . Now, after removing the

battery, a  thick plate is inserted between

the plates Then, to maintain the same

potential deffernce, the distance betweem the

capacitor plates is increase by . The

dielectric canstant of the plate is .

A. 5

B. 1.25

100v

2mm

1.6mm

https://dl.doubtnut.com/l/_4yrRQhxvOQZ5
https://dl.doubtnut.com/l/_wPKNrPXHdTTh


C. 4

D. 2.5

Answer: A

Watch Video Solution

247. The capacitance of the earth, viewed as a

spherical conductor of radius 6408 km is

A. 

B. 

980μF

1424μF

https://dl.doubtnut.com/l/_wPKNrPXHdTTh
https://dl.doubtnut.com/l/_B0aKUdr7GTj8


C. 

D. 

Answer: C

Watch Video Solution

712μF

600μF

248. A  capacitor is charged to 400 V. If its

plates are joined through a resistance of ,

then heat produced in the resistance is

A. 0.16 J

4μF

2kΩ

https://dl.doubtnut.com/l/_B0aKUdr7GTj8
https://dl.doubtnut.com/l/_G8WR5FshvNg2


B. 0.32 J

C. 0.64 J

D. 1.28 J

Answer: B

Watch Video Solution

249. The area of each plate of parallel plate

condenser is  and distance them is

2mm. It stores the energy if 5J. The energy

density of electric field between its plates is

20cm2

https://dl.doubtnut.com/l/_G8WR5FshvNg2
https://dl.doubtnut.com/l/_PHTU4mKE1z0i


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

250 × 106J /m3

1.25 × 106J /m3

2 × 106J /m3

4 × 106J /m3

250. A parallel plate condenser is made up of

two plates, each of surface area ,

separated by a distance of 0.4 cm. If a material

40cm2

https://dl.doubtnut.com/l/_PHTU4mKE1z0i
https://dl.doubtnut.com/l/_EKXrC6PumpQf


of dielectric constant 10 is introduced

between the plates, then the capacity of the

condenser is

A. 8.85 pF

B. 88.5 pF

C. 885 pF

D. 585 pF

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_EKXrC6PumpQf
https://dl.doubtnut.com/l/_iQDywoMjdtde


251. If two conducting spheres are separately

charged and then brought in contact

A. the total energy of two spheres is

conserved

B. the total charge on two spheres is

conserved

C. both the total energy and charge are

conserved

D. the final potential is always the mean of

the original potentials of the two

https://dl.doubtnut.com/l/_iQDywoMjdtde


spheres

Answer: B

Watch Video Solution

252. The parallel plates of a condenser are

separated by an insulating material. It is

because of

A. potential between the plate increases

B. potential between the plate decreases

https://dl.doubtnut.com/l/_iQDywoMjdtde
https://dl.doubtnut.com/l/_xEkq2FKmnQMV


C. capacity of the condenser decreases

D. energy stored by the condenser

decreases

Answer: B

Watch Video Solution

253. A condenser is connected across another

charged condenser. The energy in two

condensers will be

https://dl.doubtnut.com/l/_xEkq2FKmnQMV
https://dl.doubtnut.com/l/_BvTKl9RTckTg


A. equal to the energy in the initial

condenser

B. less than that in the initial condenser

C. more than that in the initial condenser

D. more or less depending upon the

relative capacities of the two condensers

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_BvTKl9RTckTg


254. Capacity of a parallel plate condenser can

be increased by

A. increasing the distance between the

plates

B. increasing the thickness of the plates

C. decreasing the thickness of the plates

D. decreasing the distance between the

plates

Answer: D

https://dl.doubtnut.com/l/_H11i3wfOqsdZ


Watch Video Solution

255. A dielectric is introduced between the

elements of the condenser kept at a constant

potential difference, then the charge on

condenser

A. decreases

B. increases

C. unchanged

D. may increase or decrease

https://dl.doubtnut.com/l/_H11i3wfOqsdZ
https://dl.doubtnut.com/l/_jV7EpQfAxHfX


Answer: B

Watch Video Solution

256. When air is replaced by a dielectric

medium of constant K, the maximum force

separated by a distance

A. increases k times

B. remains unchanged

C. increases  times

D. decreases k times

k2

https://dl.doubtnut.com/l/_jV7EpQfAxHfX
https://dl.doubtnut.com/l/_HOvwn1PP3doO


Answer: A

Watch Video Solution

257. A parallel plate capacitor is charged and

the charging battery is then disconnected. If

the plates of the capacitor are moved farther

apart by means of insulating handles:

A. the charge on the capacitor increases

B. the voltage across the plates increases

https://dl.doubtnut.com/l/_HOvwn1PP3doO
https://dl.doubtnut.com/l/_vJloBRM6X8BP


C. the electrostatic energy stored in the

capacitor increases

D. both 'b' and 'c'

Answer: D

Watch Video Solution

258. A metal foil of negligible thickness is

introduced between the two plates of a

capacitor at the centre. The capacitance of

capacitor will be

https://dl.doubtnut.com/l/_vJloBRM6X8BP
https://dl.doubtnut.com/l/_15CwqYq6HR3S


A. same

B. double

C. half

D. k times

Answer: A

Watch Video Solution

259. If the distance between the plates of

parallel plate capacitor is halved and the

https://dl.doubtnut.com/l/_15CwqYq6HR3S
https://dl.doubtnut.com/l/_ebpwQX6gltTW


dielectric constant of dielectric is doubled,

then its capacity will

A. increases by 16 times

B. increases by 4 times

C. increases by 2 times

D. remains the same

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ebpwQX6gltTW


260. In order to increase the capacity of a

parallel plate condenser one should introduce

between the plates a sheet of (assume that

the space is completely filled).

A. mica

B. tin

C. copper

D. stainless steel

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_RUWjPdON6c6j


Watch Video Solution

261. A parallel plate condenser has a

capacitance  in air and  when

immersed in an oil. The dielectric constant  of

the oil is

A. 0.2

B. 1.5

C. 2.2

D. 2.5

50μF 100μF

k

https://dl.doubtnut.com/l/_RUWjPdON6c6j
https://dl.doubtnut.com/l/_LIkh1fuAbBLx


Answer: C

Watch Video Solution

262. The capacity of parallel plate condenser is

. When a glass plate is placed between the

plates of the condenser, its potential

difference reduces to  of the original

value. The magnitude of relative dielectric

constant of glass is

A. 4

5μF

1/8

https://dl.doubtnut.com/l/_LIkh1fuAbBLx
https://dl.doubtnut.com/l/_vCPBn0MbP3Zv


B. 6

C. 7

D. 8

Answer: D

Watch Video Solution

263. A capacitor has a capacity C, when air is

present between the two plates. If a dielectric

of value k is placed between the plates, the

new capacity C will be equal to

https://dl.doubtnut.com/l/_vCPBn0MbP3Zv
https://dl.doubtnut.com/l/_SZfNVyeYznGn


A. kC

B. 

C. 

D. 2kC

Answer: A

Watch Video Solution

k2C

C 2k

264. A parallel plate capacitor has a capacity C.

The separation between plates is doubled and

a dielectric medium is inserted between

https://dl.doubtnut.com/l/_SZfNVyeYznGn
https://dl.doubtnut.com/l/_NYITdBX2Pc7A


plates. The new capacity is 3C. The dielectric

constant of medium is

A. 1.5

B. 3

C. 6

D. 

Answer: C

Watch Video Solution

12.0

https://dl.doubtnut.com/l/_NYITdBX2Pc7A


265. The capacity of condenser containing air

is . What will be its capacity if the air is

replaced by a material of dielectric constant 5

?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

4μF

20μF

40μF

4μF

10μF

https://dl.doubtnut.com/l/_AlsS4bKr2sIa


Watch Video Solution

266. The capacity of a parallel plate condenser

increases four times if the air between the

plates is replaced by glass. The permittivity of

glass will be

A. 

B. 

C. 

D. 

3.54 × 10− 11C 2 /Nm2

3.54 × 10− 12C 2 /Nm2

2.54 × 10− 11C 2 /Nm2

2.22 × 10− 12C 2 /Nm2

https://dl.doubtnut.com/l/_AlsS4bKr2sIa
https://dl.doubtnut.com/l/_IoVV4enyYfYD


Answer: A

Watch Video Solution

267. A parallel plate capacitor having

capacitance C farad is connected with a

battery of emf V volts. Keeping the capacitor

cannected with the battery, a dielectric slab of

dielectric constant K is inserted between the

plates. The dimensions of the slab are such

that it fills the space between the capacitor

plates. Then,

https://dl.doubtnut.com/l/_IoVV4enyYfYD
https://dl.doubtnut.com/l/_1vuDAtvRk6TM


A. charge the capacitor plates remains the

same

B. charge on the plates increases K times

C. potential difference between the plates

decreases to 

D. all of these

Answer: B

Watch Video Solution

V /K

https://dl.doubtnut.com/l/_1vuDAtvRk6TM


268. A capacitor is charged by using a battery

which is then disconnected. A dielectric slab is

then slipped between the plates, which results

in

A. reduction of charge on the plates and

increase of potential across the plates.

B. increase in potential difference across

the plates, reduction in stored energy,

but no change in charge on the plates

https://dl.doubtnut.com/l/_4HFXJ0sYdSHp


C. decrease in potential difference across

the plates, reduction in stored energy,

but no change in charge on the plates

D. none of these

Answer: C

Watch Video Solution

269. A parallel plate capacitor has plates with

area A and separation d. A battery charges the

plates to a potential difference . The batteryV0

https://dl.doubtnut.com/l/_4HFXJ0sYdSHp
https://dl.doubtnut.com/l/_x0MBaYuaU2Jh


is then disconnected and a dielectric slab of

thikness d is introduced. The ratio of the enrgy

stored in the capacitor before and after the

slab is introduced, is

A. K

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

K

A

d2K

d2K

A

https://dl.doubtnut.com/l/_x0MBaYuaU2Jh


270. The capacitance of a capacitor between

 times its original value if a dielectric slab

of thickness  is inserted between the

plates (d is the separation between the

plates). What is the dielectric consant of the

slab?

A. 8

B. 4

C. 6

D. 2

4/3

t = d/2

https://dl.doubtnut.com/l/_x0MBaYuaU2Jh
https://dl.doubtnut.com/l/_7AyWFS4LmZg6


Answer: D

Watch Video Solution

271. Energy of a charged condenser is given by

A. 

B. 

C. 

D. all of these

Answer: D

E =
CV 2

2

E =
Q2

2C

E =
QV

2

https://dl.doubtnut.com/l/_7AyWFS4LmZg6
https://dl.doubtnut.com/l/_QMgNKbbGB9AC


Watch Video Solution

272. Energy of a charged condenser is directly

proportional to square of

A. charge

B. potential

C. both 'a' and 'b'

D. neither 'a' nor 'b'

Answer: C

https://dl.doubtnut.com/l/_QMgNKbbGB9AC
https://dl.doubtnut.com/l/_ihz5n6O3Jzjc


Watch Video Solution

273. Energy of a charged condenser is given by

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CV 21

2

CV 21

4

CV
1

2

CV
1

4

https://dl.doubtnut.com/l/_ihz5n6O3Jzjc
https://dl.doubtnut.com/l/_M0B4bTBhW8WM
https://dl.doubtnut.com/l/_tT3XRGAKVfqD


274. The amount of energy stored in

condenser becomes nine times the initial

energy. The new potential of condenser is

A. three times the initial potential

B. nine times the initial potential

C. four times the initial potential

D. none of these

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_tT3XRGAKVfqD


275. The capacity of a parallel plate air

capacitor is  and it is given a charge of 

. The electrical energy stored in the

capacitor is

A. 400 erg

B. 600 erg

C. 800 erg

D. 900 erg

Answer: C

Watch Video Solution

10μF

40μC

https://dl.doubtnut.com/l/_qO0ObhV977im


276. When a capacitor having capacitance 

and potential difference 100 volt is discharged,

the energy released in joules is

A. 0.01

B. 0.02

C. 0.03

D. 0.07

Answer: B

4μF

https://dl.doubtnut.com/l/_qO0ObhV977im
https://dl.doubtnut.com/l/_veba01symFea


Watch Video Solution

277. Find the capacitance of a capacitor having

a charge of  and energy of 

A. 

B. 

C. 

D. 

Answer: A

6 × 10− 7C

4.5 × 10− 4J

4 × 10− 10F

5 × 10− 10F

7 × 10− 10F

9 × 10− 10F

https://dl.doubtnut.com/l/_veba01symFea
https://dl.doubtnut.com/l/_qaOvxZzFtmJ8


Watch Video Solution

278. A variable condenser is permanetly

connect to a  battery. If the capacity is

charged from  to , then change in

energy is equal to

A. 

B. 

C. 

D. 

100V

2μE 10μF

2 × 10− 2J

2.5 × 10− 2J

6.5 × 10− 2J

4 × 10− 2J

https://dl.doubtnut.com/l/_qaOvxZzFtmJ8
https://dl.doubtnut.com/l/_5Xd2N165ZLD8


Answer: D

Watch Video Solution

279. Two capacitors each of  capacitance

are connected in parallel and are then charged

by 200 V. The total energy of their charges is

A. 0.01 J

B. 0.02 J

C. 0.04 J

D. 0.06 J

1μF

https://dl.doubtnut.com/l/_5Xd2N165ZLD8
https://dl.doubtnut.com/l/_QQ7IjsVaCkYn


Answer: C

Watch Video Solution

280. A condenser of capacitance  was

originally charged to 10 V. Now potential

difference is made 20 V. The increase in

potential energy is

A. 

B. 

C. 

6μF

2 × 10− 4J

3 × 10− 4J

6 × 10− 4J

https://dl.doubtnut.com/l/_QQ7IjsVaCkYn
https://dl.doubtnut.com/l/_hKSH0oJMublH


D. 

Answer: D

Watch Video Solution

9 × 10− 4J

281. If a  capacitor is to have an energy

constant of 1 joule, it must be placed across a

potential difference of

A. 900 V

B. 750 V

10μF

https://dl.doubtnut.com/l/_hKSH0oJMublH
https://dl.doubtnut.com/l/_mlKJaMnZQ1kT


C. 447.2 V

D. 200 V

Answer: C

Watch Video Solution

282. A capacitor when charged by a potential

difference of 200 Volts, stores a charge of 0.1C.

By discharging energy liberated by the

capacitor is-

https://dl.doubtnut.com/l/_mlKJaMnZQ1kT
https://dl.doubtnut.com/l/_mTaNPyazwwm6


A. 1 J

B. 2 J

C. 10 J

D. 20 J

Answer: C

Watch Video Solution

283. If the number of condensers are

connected one after another then this type of

combination of condensers is

https://dl.doubtnut.com/l/_mTaNPyazwwm6
https://dl.doubtnut.com/l/_1AKLaCGEL1aQ


A. condensers in series

B. condensers in parallel

C. condensers in series and parallel

D. none of these

Answer: A

Watch Video Solution

284. If the number of condensers are

connected in series then

https://dl.doubtnut.com/l/_1AKLaCGEL1aQ
https://dl.doubtnut.com/l/_yitODk0Tiqdk


A. charge on each condenser is same and

potential is different

B. potential is same but charge is different

C. both charge and potential is same

D. both charge and potential is different

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_yitODk0Tiqdk


285. The resultant capacitance of n condensers

of capacitances  connected

in series is given by

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

C1C2.......... . Cn

Cs = + + ......... +
1

C1

1

C2

1

Cn

= + ......... +
1

Cs

1

C1

1

Cn

Cs = C1 + C2 + ......... + Cn

Cs = C1 − C2 − ......... − Cn

https://dl.doubtnut.com/l/_OOa0LwoCJT02


286. The equivalent capacity of number of

condenser can be decreased if they are

connected in

A. series

B. parallel

C. both 'a' and 'b'

D. neither 'a' nor 'b'

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_WOD9XoPenXFR


287. The equivalent capacity of n identical

condensers each of capacity C connented in

series is given by

A. 

B. nC

C. 

D. 

Answer: D

Watch Video Solution

n2C

n

C

C

n

https://dl.doubtnut.com/l/_WwDZFm9ZGG4G


288. The reciprocal of equivalent capacity of

number of condensers connected in series is

equal to

A. sum of reciprocals of their individual

capacity

B. sum of their individual capacity

C. difference of the capacities of each

condenser

D. none of these

https://dl.doubtnut.com/l/_Ou9fQuxoQRkk


Answer: A

Watch Video Solution

289. In series combination of condensers,

potential is distributed in

A. proportion to there capacitances

B. inverse proportion to their capacitance

C. does not depend on capacitance

D. can not be predicted

https://dl.doubtnut.com/l/_Ou9fQuxoQRkk
https://dl.doubtnut.com/l/_UttiUMjF9IOR


Answer: B

Watch Video Solution

290. If the number of condensers are

connected one after another then this type of

combination of condensers is

A. parallel

B. series

C. both series and parallel

D. neither series nor parallel

https://dl.doubtnut.com/l/_UttiUMjF9IOR
https://dl.doubtnut.com/l/_VpzGPy5cYI8Q


Answer: A

Watch Video Solution

291. If the number of condensers are

connected in parallel then

A. charge on each condenser is same and

potential is different

B. potential is same but charge is different

C. both charge and potential is same

https://dl.doubtnut.com/l/_VpzGPy5cYI8Q
https://dl.doubtnut.com/l/_96FYs3NXfr71


D. both charge and potential is different

Answer: B

Watch Video Solution

292. The equivalent capacity of number of

condensers can be increased if they are

connected in

A. series

B. parallel

https://dl.doubtnut.com/l/_96FYs3NXfr71
https://dl.doubtnut.com/l/_m3BZhBWiB9Aj


C. both series and parallel

D. neither series nor parallel

Answer: B

Watch Video Solution

293. The resultant capacity of n condensers of

capacitances  connected in

parallel is

A. 

C1, C2....... . Cn

Cp = C1 + C2 + ....... . + Cn

https://dl.doubtnut.com/l/_m3BZhBWiB9Aj
https://dl.doubtnut.com/l/_IgTVYJ4QE5iB


B. 

C. 

D. 

Answer: A

Watch Video Solution

Cp = C1 − C2 − C3 − ....... . − Cn

= + + ....... . +
1

Cp

1

C1

1

C2

1

Cn

Cp = + + ....... . +
1

C1

1

C2

1

Cn

294. Write the equivalent capacitance of a

number of identical capacitors connected in

parallel.

https://dl.doubtnut.com/l/_IgTVYJ4QE5iB
https://dl.doubtnut.com/l/_TIAreviBhb5c


A. n C

B. (n - 1) C

C. 

D. 

Answer: A

Watch Video Solution

n2C

C

n

295. The resultant capacity of number of

condensers connected in parallel is equal to

https://dl.doubtnut.com/l/_TIAreviBhb5c
https://dl.doubtnut.com/l/_gQXDeQrDi0nU


A. sum of reciprocals of their individual

capacity

B. sum of their individual capacity

C. difference of the capacities of each

condenser

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_gQXDeQrDi0nU


296. In parallel combination of condensers

charge is distributed in

A. proportion to their capacitances

B. inverse proportion to their capacitances

C. does not depend on capacitance

D. cannot be predicted

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_hlqpYKZ8VDug
https://dl.doubtnut.com/l/_tiXSv3pTDONe


297. Two capacitors of capacity  are

connected in series. The combined capacity C

is given by

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C1 and C2

C1 + C2

C1 − C2

C1C2

(C1 + C2)

(C1 + C2)

C1C2

https://dl.doubtnut.com/l/_tiXSv3pTDONe
https://dl.doubtnut.com/l/_5YyLxhUqM5f8


298. Two capacitors connected in parallel

having the capacities  and  are given 'q'

charge, which is distributed among them. The

ratio of the change on  and  will be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C1 C2

C1 C2

C1

C2

C2

C1

C1C2

1

C1C2

https://dl.doubtnut.com/l/_5YyLxhUqM5f8


299. The capacitance of two identical

condensers connected in parallel is four times

when they are connected in series. The ratio of

the individual capacitances will be

A. 

B. 

C. 

D. 

Answer: B

1: 2

1: 1

2: 1

4: 1

https://dl.doubtnut.com/l/_5YyLxhUqM5f8
https://dl.doubtnut.com/l/_zhys9xzGuFyG


Watch Video Solution

300. Two capacitors of equal capacities when

connected in series have some resultant

capacity. Then they are connected in parallel.

The resultant capacity of parallel combination

is

A. same as the series capacity

B. two times of the series capacity

C. three times of the series capacity

https://dl.doubtnut.com/l/_zhys9xzGuFyG
https://dl.doubtnut.com/l/_4pcyNi8WIsIe


D. four times of the series capacity

Answer: D

Watch Video Solution

301. If two capacitors  are put in

series. The effective capacitance of the system

will be

A. 

B. 

2μF and 6μF

8μF

4μF

https://dl.doubtnut.com/l/_4pcyNi8WIsIe
https://dl.doubtnut.com/l/_A9a5bRtuXjOA


C. 

D. 

Answer: D

Watch Video Solution

3μF

3/2μF

302. Two condensers each of  capacitance

are joined in parallel. The resultant

capacitance of the combination is

A. 

4μF

2μF

https://dl.doubtnut.com/l/_A9a5bRtuXjOA
https://dl.doubtnut.com/l/_5eUT4BYAzKgM


B. 

C. 

D. 

Answer: D

Watch Video Solution

4μF

6μF

8μF

303. There are 10 condensers each of capacity

. The ratio between maximum and

minimum capacity obtained from these

condensers will be

5μF

https://dl.doubtnut.com/l/_5eUT4BYAzKgM
https://dl.doubtnut.com/l/_ng02zfJwb5s6


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

25: 5

40: 1

60: 3

100: 1

304. Two capacitors  and  are

connected in series across a potential

3μF 6μF

https://dl.doubtnut.com/l/_ng02zfJwb5s6
https://dl.doubtnut.com/l/_Q51emndxbfp9


difference of . Then the potential

difference across  capacitor is:

A. 50 V

B. 60 V

C. 70 V

D. 80 V

Answer: D

Watch Video Solution

120V

3μF

https://dl.doubtnut.com/l/_Q51emndxbfp9


305. Three identical capacitors each of

capacitance C are connected in series and this

connection is connected in parallel with one

such more identical capacitor. Then, the

capacitance of the whole combination is

A. 3C

B. 

C. 

D. 2C

Answer: B

4C /3

3C /4

https://dl.doubtnut.com/l/_bd9Ht3NwJ1et


Watch Video Solution

306. Two idential capacitors are joined in

parallel, charged to a potential  and then

separated and then connected in series i.e. the

positive plate of one is connected to negative

of the other

A. charges on the free plates connected

together are destroyed

V

https://dl.doubtnut.com/l/_bd9Ht3NwJ1et
https://dl.doubtnut.com/l/_VqQf7JDwhCdA


B. the charges on the free plates are

enhanced

C. the energy stored in the system

increases

D. the potential difference between the

free plates becomes 2V.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_VqQf7JDwhCdA


307. Two capacitances of capacity and 

are connected in series and potential

difference  is applied across it. Then the

potential difference across  will be

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

C1 C2

V

C1

V
C2

C1

V (C1 + C2)

C1

V C2

(C1 + C2)

V C1

(C1 + C2)

https://dl.doubtnut.com/l/_DgDyZKqM7Sof


Watch Video Solution

308. Two condensers of capacity

 respectively are connected in

series. The combination is connected across a

potential of 6V. The ratio of the energies

stored by the condensers will be

A. 

B. 

C. 

D. 

3μF and 6μF

1

2

2

1

1

4

4
1

https://dl.doubtnut.com/l/_DgDyZKqM7Sof
https://dl.doubtnut.com/l/_ybG0xzJjHMuW


Answer: B

Watch Video Solution

309. Two capacitors having capacities

 are charged to voltages 

 respectively. There will be no

exchange of energy in connecting them in

parallel, if

A. 

B. 

C1 and C2

V1 and V2

C1 = C2

C1V1 = C2V2

https://dl.doubtnut.com/l/_ybG0xzJjHMuW
https://dl.doubtnut.com/l/_8Xb2Auhnblae


C. 

D. 

Answer: C

Watch Video Solution

V1 = V2

C1V1

C2V2

310. A 200 V battery is connected across the

combination of capacitors of capacities

 in series. The charge on each

capacitor is

5μF and 10μF

https://dl.doubtnut.com/l/_8Xb2Auhnblae
https://dl.doubtnut.com/l/_ZjJzSDpilrjS


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2.667 × 10− 4C

6.667 × 10− 4C

2 × 10− 4C

3 × 10− 4C

311. Two capacitors of capacitances

 are connected in series

across a potential difference of 100V. The

10μF and 20μF

https://dl.doubtnut.com/l/_ZjJzSDpilrjS
https://dl.doubtnut.com/l/_7FSoAADSMhtq


potential difference across each capacitor is

respectively

A. 66.67 V, 33.33 V

B. 60 V, 40 V

C. 50 V, 50 V

D. 90 V, 10 V

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_7FSoAADSMhtq


312. A 100 volt battery is connected across the

series combination of the two capacitors of

. The energy stored in the

series combination is

A. 

B. 

C. 0.5J

D. 1 J

Answer: B

Watch Video Solution

4μF and 8μF

× 10− 2J
3

4

× 10− 2J
4
3

https://dl.doubtnut.com/l/_vNQhSI7eGaay


Watch Video Solution

313. When two capacitances are connected in

series, the equivalent capacitance is 

and when they connected in parallel, it is

. The individual capacitances are

A. 

B. 

C. 

D. 

2.4μF

10μF

6μF and 4μF

5μF and 5μF

7μF and 3μF

8μF and 2μF

https://dl.doubtnut.com/l/_vNQhSI7eGaay
https://dl.doubtnut.com/l/_3ztLvs8NMQjS


Answer: A

Watch Video Solution

314. Two capacitors, one of  and the other

of , are connected in parallel and then

charged on a 100 V supply. The charge on each

capacitor is respectively

A. 0.4 mC and 0.5 mC

B. 0.4 mC and 0.8 mC

C. 4 mC and 5 mC

4μF

5μF

https://dl.doubtnut.com/l/_3ztLvs8NMQjS
https://dl.doubtnut.com/l/_w1gr6ymSaABP


D. 4 mC and 8 mC

Answer: A

Watch Video Solution

315. Two condensers of capacities

 are connected in parallel

across a potential difference of 120 V. The

charge and potential difference across 

capacitior is respectively

A. 1 mC, 10 V

8μF , and 4μF

4μF

https://dl.doubtnut.com/l/_w1gr6ymSaABP
https://dl.doubtnut.com/l/_fHlutUGvOdHO


B. 0.2 mC, 20 V

C. 0.4 mC, 60 V

D. 0.48 mC, 120 V

Answer: D

Watch Video Solution

316. A capacitor  is charged to a p.d.V. The

charging battery is then removed and the

capacitor is connected to an uncharged

C1

https://dl.doubtnut.com/l/_fHlutUGvOdHO
https://dl.doubtnut.com/l/_3K5mTFvinvBk


capacitor . The final p.d. across the

combination is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

C2

V
C1

C1 + C2

V
C2

C1 + C2

V
C1C2

C1 + C2

V

C1 + C2

https://dl.doubtnut.com/l/_3K5mTFvinvBk


317. An infinite number of capacitors, having

capacitances 

are connected in series. The equivalent

capacitance of the system is

A. infinite

B. 

C. 

D. 

Answer: C

Watch Video Solution

1μF , 2μF , 4μF and 8μF…. .

0.25μF

0.5μF

2μF

https://dl.doubtnut.com/l/_jeZywyoVlJZ0


Watch Video Solution

318. Two capacitors of  and  are

connected in series and a potential difference

of  is applied across the combination.

They are then disconnected and reconnected

in parallel. The potential between the plates is

A. 2250 V

B. 1111 V

C. 

D. 

3pF 6pF

5000V

2.25 × 106V

1.1 × 106V

https://dl.doubtnut.com/l/_jeZywyoVlJZ0
https://dl.doubtnut.com/l/_OtfmWMVWvxjT


Answer: B

Watch Video Solution

319. A parallel plate capacitor having a plate

separation of  is charged by connecting

it to a  supply. The energy density is

A. 

B. 

C. 

D. 

2mm

300v

0.01J /m3

0.1J /m3

1J /m3

10J /m3

https://dl.doubtnut.com/l/_OtfmWMVWvxjT
https://dl.doubtnut.com/l/_VsJt32ZcewCr


Answer: B

Watch Video Solution

320. The capacitors of  are

connected in parallel across a source of p.d.

120 V. The total charge on the effective

capacity will be

A. 2.4 mC

B. 

C. 0.24 mC

8μF , 8μF and 4μF

240μC

https://dl.doubtnut.com/l/_VsJt32ZcewCr
https://dl.doubtnut.com/l/_Lm41lFzIt0AN


D. 

Answer: A

Watch Video Solution

24μC

321. Five capacitors each of  capacitance

are connected as shown to a source of e.m.f.

The equivalent capacitance between point A

10μF

https://dl.doubtnut.com/l/_Lm41lFzIt0AN
https://dl.doubtnut.com/l/_AC0gXCiLTcU1


and B is 

A. 

B. 

40μF

30μF

https://dl.doubtnut.com/l/_AC0gXCiLTcU1


C. 

D. 

Answer: D

Watch Video Solution

20μF

10μF

322. In the given figure the capacitors

 have a capaciance  each if

the capaitor  has a capacitance , then

C1, C3, C4, C5 4μF

C2 10μF

https://dl.doubtnut.com/l/_AC0gXCiLTcU1
https://dl.doubtnut.com/l/_fQ2B3aASIWC8


effective capacitance between  and  will be 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A B

8μF

6μF

2.5μF

4μF

https://dl.doubtnut.com/l/_fQ2B3aASIWC8


323. The net capacitance of system of

capacitors in figure between points A and B is 

A. 

B. 

C. 

D. 

1μF

2μF

3μF

4μF

https://dl.doubtnut.com/l/_fQ2B3aASIWC8
https://dl.doubtnut.com/l/_YCV7uGTt8BOd


Answer: B

Watch Video Solution

324. The equivalent capacity between the

points A and B in the following figure will be 

A. 

B. 

C. 

9μF

1μF

4.5μF

https://dl.doubtnut.com/l/_YCV7uGTt8BOd
https://dl.doubtnut.com/l/_DTOj1vqR5Zek


D. 

Answer: A

Watch Video Solution

6μF

325. The p.d. across the capacitance of  in

the figure along with is 

2μF

https://dl.doubtnut.com/l/_DTOj1vqR5Zek
https://dl.doubtnut.com/l/_HhF9xEBb6tPZ


A. 10 V

B. 60 V

C. 28 V

D. 56 V

Answer: B

https://dl.doubtnut.com/l/_HhF9xEBb6tPZ


Watch Video Solution

326. A circuit is shown in the figure below. Find

out the charge of the condenser having

capacity  


A. 

B. 

5μF

4.5μC

9μC

https://dl.doubtnut.com/l/_HhF9xEBb6tPZ
https://dl.doubtnut.com/l/_ghBSfqLMqyRr


C. 

D. 

Answer: B

Watch Video Solution

7μC

30μC

327. Four condensers each of capacity  are

connected as shown in the adjoining figure. 

If , the energy stored in the

4μF

VP − VQ = 15V

https://dl.doubtnut.com/l/_ghBSfqLMqyRr
https://dl.doubtnut.com/l/_NmxrMAFsmXfd


system is 

A. 2.4 ergs

B. 1.8 ergs

C. 3.6 ergs

D. 5.4 ergs

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_NmxrMAFsmXfd


328. In the following circuit, the resultant

capacitance between  and  is . Then

value of  is 


A. 

B. 

C. 

D. 

A B 1μF

C

μF
32

11

μF
11

32

μF
23

32

μF
32

23

https://dl.doubtnut.com/l/_JSY9I5Ol2UIU


Answer: D

Watch Video Solution

329. The four capacitors, each of  are

connected as shown in figure. The DC

voltmeter reads 200V. The charge on each

25μF

https://dl.doubtnut.com/l/_JSY9I5Ol2UIU
https://dl.doubtnut.com/l/_D2iaSxraGSEy


plate of capacitor is 

A. 

B. 

C. 

D. 

Answer: B

2 × 10− 3C

5 × 10− 3C

2 × 10− 2C

5 × 10− 2C

https://dl.doubtnut.com/l/_D2iaSxraGSEy


Watch Video Solution

330. The electric potential at the surface of an

atomic nucleus (Z = 50) of radius 

is

A. 

B. 

C. 

D. 

Answer: D

9 × 10− 15m

4 × 106V

8 × 106V

4 × 10− 6V

8 × 10− 6V

https://dl.doubtnut.com/l/_D2iaSxraGSEy
https://dl.doubtnut.com/l/_yUcxij6JIZoR


Watch Video Solution

331. An oil drop is found floating freely

between thr plates of a parallel plate

condenser, the plates being horizontal and the

lower plate carrying a charge + Q. The area of

each plate is A and the distance of separation

between them is D. The charge on oil drop

must be (g is acceleration due to gravity)

A. 

B. 

mg ∈0

Q

mg ∈0 A

Q

https://dl.doubtnut.com/l/_yUcxij6JIZoR
https://dl.doubtnut.com/l/_VPuOfISChtlv


C. 

D. 

Answer: B

Watch Video Solution

mg ∈0 A2

Q

mg ∈0 A

Q2

332. Three charges  and  are in a

straight line in the position of  and 

respectively. The resultant force on  will be

zero, if 

4q, Q q

0. l/2 l

q

Q =

https://dl.doubtnut.com/l/_VPuOfISChtlv
https://dl.doubtnut.com/l/_zHqlrsAbprlx


A. Q = -q

B. Q = q

C. 

D. Q = 2q

Answer: A

Watch Video Solution

Q = q2

333. Two point charges +9e and +e are kept at

a distance 'a' from each other. A third charge is

placed at a distance 'x' from +9e on the line

https://dl.doubtnut.com/l/_zHqlrsAbprlx
https://dl.doubtnut.com/l/_GMRf1iYeTdXT


joining the above two charges. For the third

charge to be in equilibrium 'x' is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3a/4

3a/2

a/2

a/4

https://dl.doubtnut.com/l/_GMRf1iYeTdXT


334. An electron of mass  initially at rest

moves through a certain distance in a uniform

electric field in time . A proton of mass 

also initially at rest takes time  to move

through an equal distance in this uniform

electric field.Neglecting the effect of gravity,

the ratio of  is nearly equal to

A. 

B. 

C. 

me

t1 mp

t2

t2 /t1

mp

me

( )
2mp

me

( )
1 / 2mp

me

https://dl.doubtnut.com/l/_XdM29YT855SN


D. 

Answer: C

Watch Video Solution

( )
3 / 2mp

me

335. Electrons are caused to fall through a

potential difference of 1500 V. If they are

initially at rest, their final speed is

A. 

B. 

23 × 107m/s

2.3 × 107m/s

https://dl.doubtnut.com/l/_XdM29YT855SN
https://dl.doubtnut.com/l/_hJpRnloXeGd3


C. 

D. 

Answer: B

Watch Video Solution

32 × 107m/s

3.2 × 107m/s

336. The electric field in a region of space is

given by, 

 


The electric flux through an area  lying in

the YZ plane in SI unit is

E = 5
→
i + 2

→
j N /C

2m2

https://dl.doubtnut.com/l/_hJpRnloXeGd3
https://dl.doubtnut.com/l/_C1JBklldIuMB


A. 10

B. 20

C. 5

D. 15

Answer: A

Watch Video Solution

337. A given charge is situated at a certain

distance from an electric dipole in the end-on

position experiences a force  If the distanceF

https://dl.doubtnut.com/l/_C1JBklldIuMB
https://dl.doubtnut.com/l/_F5QyOjBqKXYH


of the charge is doubled, the force acting on

the charge will be

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

F /2

F /4

F /8

F /16

https://dl.doubtnut.com/l/_F5QyOjBqKXYH


338. Two small spheres, each carrying a charge

q are placed r m apart and they interact with

force F. If one of the sphere is taken around

the other once in a circular path, the work

done will be equal to

A. 0

B. F

C. 2F

D. 

Answer: A

F /2

https://dl.doubtnut.com/l/_Jsow80xXxfSE


Watch Video Solution

339. A charge q is placed at the centre of the

line joining two equal charges Q. The system

of the three charges will be in equilibrium if q

is equal to:

A. 

B. 

C. 

D. 

Q/4

−Q/4

−Q/8

Q/8

https://dl.doubtnut.com/l/_Jsow80xXxfSE
https://dl.doubtnut.com/l/_EWItRJWbmcYz


Answer: B

Watch Video Solution

340.  small drops of same size are charged to

 volts each .If they coalesce to from a single

large drop, then its potential will be -

A. V n

B. 

C. 

D. 

n

V

V n2

V /n

V n2 / 3

https://dl.doubtnut.com/l/_EWItRJWbmcYz
https://dl.doubtnut.com/l/_o8OQkYKHr8ac


Answer: D

Watch Video Solution

341. A charged particle of mass  and charge

 is released from rest in an electric field of

constant magnitude . The kinetic energy of

the particle after time  is

A. 

B. 

C. 

m

q

E

t

1

2

q2E2t2

m

q2E2t2

m

1

4

q2E2t2

m

https://dl.doubtnut.com/l/_o8OQkYKHr8ac
https://dl.doubtnut.com/l/_I3NioSJOqpvo


D. 

Answer: A

Watch Video Solution

1

4

q2Et2

m

342. A  atom consits of a proton and an

electron that revolves in a circular orbit

around the proton with a radius of

. If the electron moves so that

its centrifugal force is just equal to the

electrostatic force then the speed is

H2

5.3 × 10− 9cm

https://dl.doubtnut.com/l/_I3NioSJOqpvo
https://dl.doubtnut.com/l/_GcRN8jQ7FbLK


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

22 × 107m/s

2.2 × 106m/s

3.2 × 107m/s

3.2 × 107m/s

343. A parallel plate condenser with air as

dielectric has capacity . A thin

mica sheet of dielectric constant K and

C0 =
∈0 A

d

https://dl.doubtnut.com/l/_GcRN8jQ7FbLK
https://dl.doubtnut.com/l/_ExygOV3coTis


thickness t is introduced near the first plate

and then moved with constant velocity v

towards the other plate. The capacity of the

condenser will be

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∈0 A

d − t + t

k

∈0 Av

d − t + t

k

∈0 Av

d − t

∈0 A

d − t

https://dl.doubtnut.com/l/_ExygOV3coTis


344. If K is the dielectric constant of the

medium. A is area of insulated charged plates

and d is the distance between two plates of

parallel plate condenser then its capacity in

CGS unit is

A. 

B. 

C. 

D. 

KA

4πd

KA

2πd

KA

πd

KA

d

https://dl.doubtnut.com/l/_ExygOV3coTis
https://dl.doubtnut.com/l/_5Kw9poHSgtTS


Answer: A

Watch Video Solution

345. The space between parallel plate

capacitors is filled with four dielectrics of

equal dimensions but of dielectric constants

 respectively. If K is the

dielectric constant of a single dielectric that

must be filled between capacitor plates to

have the same capacitance between A and B.

K1, K2, K3 and K4

https://dl.doubtnut.com/l/_5Kw9poHSgtTS
https://dl.doubtnut.com/l/_9Atajwk1CSKf


Then we must have 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= +
1

K

1

K1 + K2

1

K3 + K4

= −
1

K

1

K1 + K2

1

K3 + K4

= +
1

K

1

K1 − K2

1

K3 − K4

= −
1

K

1

K1 − K2

1

K3 − K4

https://dl.doubtnut.com/l/_9Atajwk1CSKf


346. The expression for the capacity of the

capacitor formed by compound dielectric

placed between the plates of a parallel plate

capacitor as shown in figure will be 

A. 
∈0 A

+ +
d1

K1

d2

K2

d3

K3

https://dl.doubtnut.com/l/_A6R86J2FBLIF


B. 

C. 

D. 

Answer: A

Watch Video Solution

∈0 A

− −
d1

K1

d2

K2

d3

K3

∈0 A2

− −
d1

K1

d2

K2

d3

K3

∈0 A2

+ +1
K1

1
K2

1
K3

347. Two insulated metallic spheres of 

and  capacitances are charged to 

3μF

5μF 300V

https://dl.doubtnut.com/l/_A6R86J2FBLIF
https://dl.doubtnut.com/l/_V2UWCOkhlklF


and  respectively. The energy loss, when

they are connected by a wire is

A. 0.375 J

B. 0.0375 J

C. 0.735 J

D. 0.0735 J

Answer: B

Watch Video Solution

500V

https://dl.doubtnut.com/l/_V2UWCOkhlklF


348. The  capacitor is charged at a

steady rate of . The potential

difference across the capacitor will be 10 V

after an interval of

A. 5 s

B. 0.5 s

C. 0.05 s

D. 50 s

Answer: D

Watch Video Solution

500μF

100μC /s

https://dl.doubtnut.com/l/_sRcK6euThEAp


Watch Video Solution

349. An unchanged capacitor with a solid

dielectric is connected to a similar air

capacitor charged to a potential of . If the

common potential after sharing of charges

becomes V, then the dielectric constant of the

dielectric must be

A. 

B. 

C. 

V0.

V0 − V

V

V0 + V

V

V0

V

https://dl.doubtnut.com/l/_sRcK6euThEAp
https://dl.doubtnut.com/l/_kBz17Ok0UivY


D. 

Answer: A

Watch Video Solution

V0

2V

350. The area of the plates of a parallel plate

condenser is  and the distance between the

plates is . There are two dielectric

sheets in it, one of dieectirc constant  and

thickness  an dthe other of dielectric

A

10mm

10

6mm

https://dl.doubtnut.com/l/_kBz17Ok0UivY
https://dl.doubtnut.com/l/_Ob0EzOTmhdR8


constant  and thickness . the capacity of

the condenser is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5 4mm

∈0 A
5000

7

∈0 A
500

7

∈0 A
50

7

∈0 A
50

14

https://dl.doubtnut.com/l/_Ob0EzOTmhdR8


351. A parallel plate capacitor of area A, plate

separation d and capacitance C is filled with

three different dielectric materials having

dielectric constants ,  and  as shown. If

a isngle dielectric material is to be used to

have the same capacitance C in this capacitor,

then its dielectic constant k is given by 

k1 k2 k3

https://dl.doubtnut.com/l/_ZZTFg40d2wTA


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+
1

K1 + K2

1

2K3

−
1

K1 + K2

1

2K3

+
1

K1 − K2

1

2K3

+
2

K1 + K2

1

2K3

352. A parallel plate capacitor is constructed

using three different dielectric materials as

shown in figure. The parallel plates across

https://dl.doubtnut.com/l/_ZZTFg40d2wTA
https://dl.doubtnut.com/l/_4exBVmnNB54p


which a potential difference is applied are of

area  and are separated by a

distance d = 2mm. If

, find

capacitance across points A and B 

A. 1.56 pF

B. 2.56 pF

C. 2.65 pF

A = 1cm2

K1 = 4, K2 = 6 and K3 = 2

https://dl.doubtnut.com/l/_4exBVmnNB54p


D. 3 pF

Answer: A

Watch Video Solution

353. Van de Graff generator produces

A. high voltage and high current

B. high voltage and low current

C. low voltage and high current

D. low voltage and low current

https://dl.doubtnut.com/l/_4exBVmnNB54p
https://dl.doubtnut.com/l/_t04zwiGFFlfd


Answer: B

Watch Video Solution

354. Van de Graaff generator is

A. an electromagnetic machine

B. an electrostatic machine

C. an electrodynamic machine

D. used to produce charged particles

Answer: B

https://dl.doubtnut.com/l/_t04zwiGFFlfd
https://dl.doubtnut.com/l/_1bQiEqqZRJOq


Watch Video Solution

355. Van de Graaff generator is

A. high voltage generator

B. low voltage generator

C. ac generator

D. dc generator

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_1bQiEqqZRJOq
https://dl.doubtnut.com/l/_iMM2FvH2qr5v


356. In van de Graaff generator, potential

difference is of the order of

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

107V

103V

102V

1012V

https://dl.doubtnut.com/l/_iMM2FvH2qr5v
https://dl.doubtnut.com/l/_Fl4Mb3Pp6nVI
https://dl.doubtnut.com/l/_MVAcGsJgzi4j


357. Which of the following instruments works

on the principle of action of sharp points ?

A. Van de Graff generator

B. Cyclotron

C. Dynamo

D. Induction coil

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_MVAcGsJgzi4j
https://dl.doubtnut.com/l/_GWRgfUQSmTi9


358. In van de Graaff generator, the process of

spraying the charge is called

A. gases discharge

B. corona discharge

C. electron discharge

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_GWRgfUQSmTi9


359. Van de Graff generator is used to produce

high energetic charged particles of energy of

about

A. 10 MeV

B. 50 MeV

C. 100 MeV

D. 0.5 MeV

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_cbe6uBbxZ2Mb


360. Van de Graaff generator is used for

A. produce radioactive isotopes

B. study nuclear structure

C. study different types of nuclear

reactions

D. all of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_x2jlW0IIjIfO
https://dl.doubtnut.com/l/_asErzJQwFuI0


361. Van de Graaff generator is used for

A. carry out radioactive disintegration

B. produce ac voltage

C. convert ac into dc voltage

D. produce total internal reflection

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_asErzJQwFuI0


362. The number of lines of force starting from

a point charge of  in vacuum are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

10μC

1.2 × 106Nm2 /C

1.3 × 106Nm2 /C

1.13 × 106Nm2 /C

2.3 × 106Nm2 /C

https://dl.doubtnut.com/l/_8Yfl5J8zEUdj
https://dl.doubtnut.com/l/_A3WDP72YpuyQ


363. The number of tubes of force originating

from a point charge of  placed

in dielectric medium of dielectric constant 4

are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

17.7 × 10− 8C

3000Nm2 /C

5000Nm2 /C

6000Nm2 /C

5500Nm2 /C

https://dl.doubtnut.com/l/_A3WDP72YpuyQ


364. A plane surface of element of area 

is situated in a uniform electric field of

intensity  with its plane making

an angle of  with the direction of the field.

The electric flux through the surface element

is

A. 

B. 

C. 

D. 

1mm2

9 × 106N /C

30∘

4.5Nm2 /C

3.5Nm2 /C

0.5Nm2 /C

2.5Nm2 /C

https://dl.doubtnut.com/l/_A3WDP72YpuyQ
https://dl.doubtnut.com/l/_t65bm1F4u18q


Answer: A

Watch Video Solution

365. An isolated conducting sphere of

diameter 20 cm placed in air carries a charge

of . The electric intensity at a point at a

distance of 10 cm from the surface of the

charged sphere is

A. 

B. 

9μC

10.25 × 105N /C

15.25 × 105N /C

https://dl.doubtnut.com/l/_t65bm1F4u18q
https://dl.doubtnut.com/l/_XdJU9GJ04h5K


C. 

D. 

Answer: D

Watch Video Solution

25.25 × 155N /C

20.25 × 105N /C

366. A charged cylindrical conductor of infinite

length has charge per unit length of 

. The electric intensity at a point at a distance

of 20 cm from its axis in the surrounding

10μC /m

https://dl.doubtnut.com/l/_XdJU9GJ04h5K
https://dl.doubtnut.com/l/_oQRdOTVE8MVV


medium is . The relative

permittivity of the surrounding medium is

A. 3.6

B. 2.6

C. 4.6

D. 

Answer: A

Watch Video Solution

2.5 × 105N /C

3.0

https://dl.doubtnut.com/l/_oQRdOTVE8MVV


367. An electric cable of diameter 10 cm runs

under water (k for water = 81) for a distance of

5 km. If the cable carries a charge of 0.01 C on

its surface. The electric intensity at a distance

of 95 cm from the surface of the cable is

A. 

B. 

C. 

D. 

Answer: B

2.4 × 102N /C

4.4 × 102N /C

4.4 × 103N /C

4.4 × 10− 2N /C

https://dl.doubtnut.com/l/_RjXjFiGb6GTU


Watch Video Solution

368. The surface charge density of a

conducting sphere is  and

the electric field intensity at a distance of 4m

from the centre of the sphere is .

The radius of the sphere, assuming the sphere

to be in vacuum is

A. 3 cm

B. 4 mm

C. 4 cm

8.85 × 10− 10C /m2

10− 2V /m

https://dl.doubtnut.com/l/_RjXjFiGb6GTU
https://dl.doubtnut.com/l/_3y3Du3y4vF5H


D. 4 km

Answer: C

Watch Video Solution

369. Find the electric field intensity due to a

positively charged conducting cylinder with

radius 1 cm and surface charge density

, at a point at a distance of 2 m

from the axis of cylinder. The dielectric

10− 9C /m2

https://dl.doubtnut.com/l/_3y3Du3y4vF5H
https://dl.doubtnut.com/l/_AHCapxKVeV4G


constant of the medium surrounding the

cylinder is 2.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.28V /m

1.28V /m

2.28V /m

1.00V /m

https://dl.doubtnut.com/l/_AHCapxKVeV4G


370. The electric field near the surface of the

earth is . The surface density of

charge on the earth's surface is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

300V /m

3.65 × 10− 9C /m2

2.65 × 10− 9C /m2

3.65 × 109C /m2

2.65 × 10− 9C /m2

https://dl.doubtnut.com/l/_m9iUEAeid6bl


371. A closed conducting sphere is positively

charged such that the surface charge density

is . If the dielectric

constant of the medium surrounding the

conductor is 100, then electric field intensity at

a point just outside it will be

A. 

B. 

C. 

D. 

17.7 × 10− 12C /m2

1.02V /m

0.02V /m

1.22V /m

2.22V /m

https://dl.doubtnut.com/l/_GwpXcLj5o9wa


Answer: B

Watch Video Solution

372. The outward pull on a metal plate of area

 having a charge density of 

is

A. 1.4 N

B. 2.4 N

C. 0.4 N

D. 1.8 N

0.01m2 50μC /m2

https://dl.doubtnut.com/l/_GwpXcLj5o9wa
https://dl.doubtnut.com/l/_Z37shr8an3cB


Answer: A

Watch Video Solution

373. A circular metal plate of radius 10 cm is

given a charge of . The outward pull on

the plate in the vacuum is

A. 560 N

B. 370 N

C. 360 N

D. 630 N

20μC

https://dl.doubtnut.com/l/_Z37shr8an3cB
https://dl.doubtnut.com/l/_iQW5H7WfNUBV


Answer: C

Watch Video Solution

374. A metal sphere of radius 10 cm is charged

to a potential of 100 V. The outward pull per

unit area of the surface is

A. 

B. 

C. 

D. 

4.4 × 10− 6N /m2

2.4 × 10− 6N /m2

4.4 × 106N /m2

4.2 × 10− 6N /m2

https://dl.doubtnut.com/l/_iQW5H7WfNUBV
https://dl.doubtnut.com/l/_9Rv7TppD0m0L


Answer: A

Watch Video Solution

375. The energy density at a point in vacuum is

. The intensity of the

electric field at the point is

A. 

B. 

C. 

D. 

1.77 × 10− 7J /m3

100V /m

200V /m

300V /m

400V /m

https://dl.doubtnut.com/l/_9Rv7TppD0m0L
https://dl.doubtnut.com/l/_9ipgSyJyvrNP


Answer: B

Watch Video Solution

376. The capacitance of earth, treating it as a

spherical conductor of radius 6400 km is

A. 

B. 

C. 

D. 

5.1 × 10− 4F

6.1 × 10− 4F

7.1 × 104F

7.1 × 10− 4F

https://dl.doubtnut.com/l/_9ipgSyJyvrNP
https://dl.doubtnut.com/l/_S2zMyLvhSoIM


Answer: D

Watch Video Solution

377. A parallel plate condenser consists of two

plates each of area . They are

separated by mica sheet of thickness 8.85 mm.

If the relative permittivity of mica is 6. Then

capacity of parallel plate condenser is

A. 50 pF

B. 40 pF

100cm2

https://dl.doubtnut.com/l/_S2zMyLvhSoIM
https://dl.doubtnut.com/l/_Hwucod627aeR


C. 60 pF

D. 30 pF

Answer: C

Watch Video Solution

378. The charge and energy stored in the

capacitor of capacity , when it is charged

to a potential difference of 0.6 kV are

respectively

32μF

https://dl.doubtnut.com/l/_Hwucod627aeR
https://dl.doubtnut.com/l/_3O6sC4mBKwKH


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1.92 × 10− 2C, 5.76J

2.92 × 10− 2C, 5.76J

1.92 × 102C, 5.76J

1.92 × 10− 2C, 4.76J

379. Four condensers having capacities 2pF,

3pF, 4pF and 6pF are connected in series. The

equivalent capacity of the combination is

https://dl.doubtnut.com/l/_3O6sC4mBKwKH
https://dl.doubtnut.com/l/_doTt7XecDyvy


A. 8.0 pF

B. 0.8 pF

C. 1.8 pF

D. 0.4 pF

Answer: B

Watch Video Solution

380. When two capacitors are connected in

series, the equivalent capacitance is .

When they are connected in parallel, the

1.2μF

https://dl.doubtnut.com/l/_doTt7XecDyvy
https://dl.doubtnut.com/l/_RZTyMsdHkO6t


equivalent capacitance is . The

capacitances of the capacitors are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

5μF

3μF and 2μF

4μF and 1μF

2.5μF and 2.5μF

3.5μF and 1.5μF

https://dl.doubtnut.com/l/_RZTyMsdHkO6t


381. Parallel combination of two condensers of

capacities  and the series

combination of two condensers of capacities

 are connected in series. The

equivalent capacity of entire combination is

A. 

B. 

C. 

D. 

Answer: C

2μF and 4μF

6μF and 12μF

4.4μF

2.2μF

2.4μF

1.4μF

https://dl.doubtnut.com/l/_NPHmRgh2YjWv


Watch Video Solution

382. Two insulated spherical conductors of

capacities  are charged to 100 V

and 200 V respectively. The conductors are

then brought in contact. The charges on the

sphere after contact are

A. 

B. 

C. 

1μF and 2μF

1.6 × 10− 4C, 3.3 × 10− 4C

2.6 × 10− 4C, 3.3 × 10− 4C

1.6 × 10− 4C, 4.3 × 10− 4C

https://dl.doubtnut.com/l/_NPHmRgh2YjWv
https://dl.doubtnut.com/l/_xvoC6nUH73gF


D. 

Answer: A

Watch Video Solution

2.6 × 10− 4C, 4.3 × 10− 4C

383. Two capacitors of capacitances

 respectively are connected in

parallel and this combination is connected in

series with a third capacitor of capacitance

. A potential difference of 100 V is applied

across the entire combination. The charge and

3μF and 5μF

2μF

https://dl.doubtnut.com/l/_xvoC6nUH73gF
https://dl.doubtnut.com/l/_BU8RZFYaO943


the potential difference across the third

capacitor is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

100μC, 40V

100μC, 80V

160μC, 40V

160μC, 80V

https://dl.doubtnut.com/l/_BU8RZFYaO943


384. A condenser having a capacity of  is

charged to a potential of 200 V. If the area of

each plate of the condenser is  and the

distance between the plates is 0.1 mm. The

energy per unit volume of the field between

the plates is

A. 

B. 

C. 

D. 

50μF

10cm2

106J /m3

10− 6J /m3

107J /m3

10− 7J /m3

https://dl.doubtnut.com/l/_o5U5hdAmbdOF


Answer: C

Watch Video Solution

385. The cell membrane of a resting nerve in a

human body has a thickness of 75 Å. If

potential difference between the two sides of

membrace is 0.06 V. Then intensity of electric

field is

A. 

B. 

8 × 106V /m

4 × 106V /m

https://dl.doubtnut.com/l/_o5U5hdAmbdOF
https://dl.doubtnut.com/l/_pGZcHm7YuDGu


C. 

D. 

Answer: A

Watch Video Solution

8 × 10− 6V /m

4 × 10− 6V /m

386. A parallel plate capacitor with air between

the plates has a capacitance . The capacity

of the condenser when the distance between

the plates is reduced to half of initial distance

is

2μF

https://dl.doubtnut.com/l/_pGZcHm7YuDGu
https://dl.doubtnut.com/l/_vsJAnt7wERZO


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3μF

4.4μF

2.4μF

4μF

387. A conductor of capacity  is charged to

a potential of 200 V. If an additional charge of

2μF

https://dl.doubtnut.com/l/_vsJAnt7wERZO
https://dl.doubtnut.com/l/_tztfnKigBJsG


 is deposited on it, then

resultant potential will be

A. 110 V

B. 100 V

C. 200 V

D. 220 V

Answer: B

Watch Video Solution

−2 × 10− 4C

https://dl.doubtnut.com/l/_tztfnKigBJsG


388. A plane conductor with very large

dimensions is charged such that surface

charge density is . The

electric field intensity at a point near it if the

conductor is in a medium of dielectric

constant 5 is

A. 

B. 

C. 

D. 

1.6 × 10− 2C /m2

1.8 × 108V /m

1.8 × 10− 2V /m

1.8 × 10− 6V /m

1.8 × 102V /m

https://dl.doubtnut.com/l/_ke8OVGBoezTA


Answer: A

Watch Video Solution

389. Condensers of capacities 5F and 10F are

connected in parallel in a circuit with a cell of

e.m.f. 2V. The capacity of the condenser to be

connected in series with parallel combination

of the condensers to get 1C charge to flow in

the circuit is

A. 0.62 F

https://dl.doubtnut.com/l/_ke8OVGBoezTA
https://dl.doubtnut.com/l/_Qn6pn62SzKXM


B. 0.52 F

C. 1.62 F

D. 0.42 F

Answer: B

Watch Video Solution

390. A slab of copper of thickness b is inserted

in between the plates of a parallel plate

capacitor as shown in figure. The separation of

the plates is d. If , then the ratio ofb = d/2

https://dl.doubtnut.com/l/_Qn6pn62SzKXM
https://dl.doubtnut.com/l/_qMVF72WbZ2QJ


capacities of the capacitor after and before

inserting the slab will be 

A. 

B. 

C. 

D. 

Answer: A

1: 1

1: √2

2: 1

√2: 1

https://dl.doubtnut.com/l/_qMVF72WbZ2QJ


Watch Video Solution

391. In the following diagram, the effective

capacitance between A and B is 

A. C

B. 2 C

C. 3 C

https://dl.doubtnut.com/l/_qMVF72WbZ2QJ
https://dl.doubtnut.com/l/_GhKdyOfrmuiz


D. 4 C

Answer: C

Watch Video Solution

392. An infinite number of identical capacitors

each of capacitance  are connected 

are connected as shown in Fig. Then the

1μF 1μF

https://dl.doubtnut.com/l/_GhKdyOfrmuiz
https://dl.doubtnut.com/l/_QiBmuR8zQQBD


equivalent capacitance between  and  is 

A. 

B. 

C. 

D. 

A B

1μF

2μF

0.5μF

∞

https://dl.doubtnut.com/l/_QiBmuR8zQQBD


Answer: B

Watch Video Solution

393. The resultant capacitance between  and

 in the following figure is equal to 

A. 

A

B

1μF

https://dl.doubtnut.com/l/_QiBmuR8zQQBD
https://dl.doubtnut.com/l/_cewktcoDJbsl


B. 

C. 

D. 

Answer: A

Watch Video Solution

1.5μF

2μF

3μF

394. The effective capacity between A and B of

the given network is 

https://dl.doubtnut.com/l/_cewktcoDJbsl
https://dl.doubtnut.com/l/_sEULktFRaUgE


A. 3C

B. 2C

C. C

D. 

Answer: A

Watch Video Solution

C

3

https://dl.doubtnut.com/l/_sEULktFRaUgE


395. In the circuit shown, a potential difference

of  is applied acrodd. . The potential

difference between the point  and  is- 


A. 60 V

B. 45 V

60V AB

M N

https://dl.doubtnut.com/l/_sEULktFRaUgE
https://dl.doubtnut.com/l/_PiOI4QF02gmq


C. 40 V

D. 30 V

Answer: D

Watch Video Solution

396. Refer to network shown in figure. The

effective capacitance between a and b is 

https://dl.doubtnut.com/l/_PiOI4QF02gmq
https://dl.doubtnut.com/l/_O4hsATLYlCkh


A. C

B. 

C. 

D. 

Answer: C

Watch Video Solution

C

2

C

3

C

4

397. In the adjoining circuit, the capacity

between the points A and B will be - 

https://dl.doubtnut.com/l/_O4hsATLYlCkh
https://dl.doubtnut.com/l/_FmjmcWIJzD71


A. C

B. 2C

C. 3C

D. 4C

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_FmjmcWIJzD71
https://dl.doubtnut.com/l/_Bi1fOJp4KTyz


398. The resultant capacity between the points

A and B in the adjoining circuit will be - 

A. C

B. 2C

C. 3C

https://dl.doubtnut.com/l/_Bi1fOJp4KTyz


D. 4C

Answer: A

Watch Video Solution

399. Each edge of the cube contains a

capacitance C. The equivalent capacitance

https://dl.doubtnut.com/l/_Bi1fOJp4KTyz
https://dl.doubtnut.com/l/_qCREAzfXw0ij


between the points A and B will be - 

A. 

B. 

C. 

D. 

6C

5

5C

6

12C

7

7C

12

https://dl.doubtnut.com/l/_qCREAzfXw0ij


Answer: B

Watch Video Solution

400. In figure (below) the charge on the 

capacitor is 

1.5μF

https://dl.doubtnut.com/l/_qCREAzfXw0ij
https://dl.doubtnut.com/l/_aWmD1CTjdvum


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

60μC

90μC

120μC

30μC

401. The effective capacity between A and B in

the figure given is (in ) μF

https://dl.doubtnut.com/l/_aWmD1CTjdvum
https://dl.doubtnut.com/l/_QLtoVr8nhnRj


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

43

24

24

43

43
12

12

43

https://dl.doubtnut.com/l/_QLtoVr8nhnRj


402. The capacity of a condenser in which a

dielectric of dielectric constant 5 has been

used, is C. If the dielectric is replaced by

another with dielectric constant 20, the

capacity will become

A. 4C

B. 2C

C. 

D. 

Answer: A

C

2

C

4

https://dl.doubtnut.com/l/_3ORu4xARXP8h


Watch Video Solution

403. The charge on  capacitor in the given

circuit (in ) is 


A. 12

4μF

μC

https://dl.doubtnut.com/l/_3ORu4xARXP8h
https://dl.doubtnut.com/l/_HTwpqkL2wjuS


B. 24

C. 36

D. 42

Answer: B

Watch Video Solution

404. Three capacities of respective capacities

6, 4 and  are connected in parallel and P.D.

of 5 volt applied across it. Its total capacity

2μF

https://dl.doubtnut.com/l/_HTwpqkL2wjuS
https://dl.doubtnut.com/l/_NxgWpeAxSKEp


and the charge on each condenser in order

will be

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

12μF , 30μC, 10μC, 20μC

12μF , 10μC, 30μC, 20μC

12μF , 10μC, 20μC, 30μC

12μF , 30μC, 20μC, 10μC

https://dl.doubtnut.com/l/_NxgWpeAxSKEp


405. Five capacitors, each of capacitance value

 are connecteed as shown in the figure. The

ratio of capacitance between  and , and

the capacitance between  and , is. 


A. 

C

P R

P Q

3: 1

https://dl.doubtnut.com/l/_c232nRZi5ya7


B. 

C. 

D. 

Answer: C

Watch Video Solution

5: 2

2: 3

1: 1

406. In a parallel plate capacitor , the capacity

increases if

A. increase of its area

https://dl.doubtnut.com/l/_c232nRZi5ya7
https://dl.doubtnut.com/l/_H3p0FZ09Dt5l


B. decrease of its area

C. increase of distance between plates

D. it is independent on area

Answer: A

Watch Video Solution

407. A capacitor of  is charged to 

volts and connected in parallel ith another

capacitor of  and charged to  volts.

The common potential is

20μF 500

10μF 200

https://dl.doubtnut.com/l/_H3p0FZ09Dt5l
https://dl.doubtnut.com/l/_KzK6JgMPTyKW


A. 500V

B. 400V

C. 300V

D. 200V

Answer: B

Watch Video Solution

408. The capacitance between the points 

and  in the given circuit will be 

A

B

https://dl.doubtnut.com/l/_KzK6JgMPTyKW
https://dl.doubtnut.com/l/_NaG1x4ng9RM8


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3.5μF

3μF

2μF

1μF

https://dl.doubtnut.com/l/_NaG1x4ng9RM8


409. A  capacitor is charged to 400 V. If its

plates are joined through a resistance of ,

then heat produced in the resistance will be

A. 0.16 J

B. 0.32 J

C. 0.64 J

D. 1.28 J

Answer: B

Watch Video Solution

4μF

4kΩ

https://dl.doubtnut.com/l/_AVuL3dIc1Y26


410. In the figure, three capacitors each of

capacitance  are connected in series. The

total capacitance of the combination will be 

A. 9 pF

B. 6 pF

C. 3 pF

6pF

https://dl.doubtnut.com/l/_rK0LJ3NrnbYs


D. 2 pF

Answer: D

Watch Video Solution

411. A 700 pF capacitor is charged by a 50 V

battery. The electrostatic energy stored it is

A. 

B. 

C. 

6.7 × 10− 7J

8.7 × 10− 7J

9.7 × 107J

https://dl.doubtnut.com/l/_rK0LJ3NrnbYs
https://dl.doubtnut.com/l/_ivZUfTp1dyXY


D. 

Answer: B

Watch Video Solution

6.7 × 107J

412. In fig.

and the insulated plate of  is at a potential

of 90 V, one plate of  being earthed. What is

the potential difference between th plates of

C1 = 20μF , C2 = 30μF and C3 = 15μF

C1

C3

https://dl.doubtnut.com/l/_ivZUfTp1dyXY
https://dl.doubtnut.com/l/_h2ztl7X7G5EQ


 three capacitors being connected in series

?

A. 10 e.s.u.

B. 30 e.s.u.

C. 40 e.s.u.

D. 20 e.s.u.

Answer: D

Watch Video Solution

C2

https://dl.doubtnut.com/l/_h2ztl7X7G5EQ


413. What is T.N.E.I. through the surface A and

B respectively ? 

A. (q, 2q)

B. (-q, -2q)

C. (0, q)

D. (q, 0)

https://dl.doubtnut.com/l/_05BFWrbo6xDy


Answer: C

Watch Video Solution

414. The number of tubes of force through a

charge 'q' is

A. q

B. 

C. 

D. 0

q/ ∈0

2q/ ∈0

https://dl.doubtnut.com/l/_05BFWrbo6xDy
https://dl.doubtnut.com/l/_3HZEEWcOjRhi


Answer: B

Watch Video Solution

415. A parallel plate capacitor of 6  is

connected across 18 V battery and charged.

The battery is k = 2.1 is introduced between the

plates. What will be the charge on capacitor ?

A. 

B. 

C. 

μF

50μC

108μC

60μC

https://dl.doubtnut.com/l/_3HZEEWcOjRhi
https://dl.doubtnut.com/l/_oRmzJ2EjaxkA


D. 

Answer: B

Watch Video Solution

85μC

416. Four capacitors are connected as shown

in figure. The equivalent capacitance between

A and B is 

A. 80μF

https://dl.doubtnut.com/l/_oRmzJ2EjaxkA
https://dl.doubtnut.com/l/_0HGVzCYR1kRE


B. 

C. 

D. 

Answer: D

View Text Solution

40μF

60μF

20μF

417. Ampere second is a unit of

A. capacitance

B. charge

https://dl.doubtnut.com/l/_0HGVzCYR1kRE
https://dl.doubtnut.com/l/_IG15H1eCmA2q


C. energy

D. power

Answer: B

Watch Video Solution

418. The capacity of a parallel plate condenser

is . Its capacity, when the separation

between plates is doubled and area is halved

will be

12μF

https://dl.doubtnut.com/l/_IG15H1eCmA2q
https://dl.doubtnut.com/l/_fwiatLegePdK


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3μF

12μF

6μF

1.5μF

419. A metal surface of area  is charged

with  in air. The mechanical force

acting on it is

1m2

√8.85μC

https://dl.doubtnut.com/l/_fwiatLegePdK
https://dl.doubtnut.com/l/_gaUH0s5ci0bR


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

0.05N /m2

1.5N /m2

0.5N /m2

2.5N /m2

420. If a  capacitor is charged to 1 kV, then

energy stored in the capacitor is

4μF

https://dl.doubtnut.com/l/_gaUH0s5ci0bR
https://dl.doubtnut.com/l/_Xq9ze8XlyWPJ


A. 1 J

B. 4 J

C. 6 J

D. 2 J

Answer: D

Watch Video Solution

421. How do you arrange four equal capacitor

of  to get effective capacitance  ?4μF 3μF

https://dl.doubtnut.com/l/_Xq9ze8XlyWPJ
https://dl.doubtnut.com/l/_UqhhogeBV0et


A. three in series, one in parallel

B. two in parallel, two in series

C. three in parallel, one in series

D. all four in series

Answer: C

Watch Video Solution

422. Cyclinder is charged by 10mC. Length of

cyclinder is 1km and radius is 1 mm. Surface

charge density of cyclinder is

https://dl.doubtnut.com/l/_UqhhogeBV0et
https://dl.doubtnut.com/l/_3u7Go9buo7vS


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1.59 × 10− 4C /m2

1.59 × 10− 2C /m2

1.59 × 10− 3C /m2

1.59 × 10− 5C /m2

423. If charge q is induced on outer surface of

sphere of radius R, then intensity at a point P

at a distance S from its centre is

https://dl.doubtnut.com/l/_3u7Go9buo7vS
https://dl.doubtnut.com/l/_CPLS177TOmMe


A. inversely proportional to 

B. inversely proportional to 

C. inversely proportional to 

D. directly proportional to 

Answer: C

Watch Video Solution

(S + R)2

R2

S2

S2

424. When three identical capacitors are

connected in series, their equivalent

capacitance is  . Now they are connected2μF

https://dl.doubtnut.com/l/_CPLS177TOmMe
https://dl.doubtnut.com/l/_uwYx9m9jFk1R


in parallel across a source of e.m.f. 200 V. The

total energy stored is

A. 0.36 J

B. 0.48 J

C. 0.16 J

D. 0.08 J

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_uwYx9m9jFk1R


425. In a parallel plate capacitor with air, the

distance between the plates is reduced to half

and the space is filled with dielectric of

constant 4. If initial capacity of capacitor is

, then final value of capacity is

A. 

B. 

C. 

D. 

Answer: C

2μF

4μF

8μF

16μF

2μF

https://dl.doubtnut.com/l/_kHBsYbN7jKiG


Watch Video Solution

426. Unit of electric flux is

A. Vm

B. 

C. 

D. 

Answer: A

Watch Video Solution

V /m

Nm/C

C /Nm

https://dl.doubtnut.com/l/_kHBsYbN7jKiG
https://dl.doubtnut.com/l/_N3WgLe5dpgBz


427. Consider a sphere of radius R and cylinder

of length L. If both have same charge density 

and  are electric intensity at a

point at a distance r from axis of sphere and

cylinder respectively, then  equal to

A. 

B. 

C. 

D. 

σ

Es and Ec

Es

EcR

r

Ecr

R

2Ecr

R

Ecr

2R

https://dl.doubtnut.com/l/_N3WgLe5dpgBz
https://dl.doubtnut.com/l/_HJMSp4FNYz72


Answer: A

Watch Video Solution

428. If  energy is required to move

a charge of  coulomb between two points.

Then what will be the potential difference

between them ?

A. 100 V

B. 256 V

C. 200 V

4 × 1020eV

0.25

https://dl.doubtnut.com/l/_HJMSp4FNYz72
https://dl.doubtnut.com/l/_VXG6CU6MsvIA


D. 128 V

Answer: B

Watch Video Solution

429. A parallel plate capacitor has a capacity c.

If a medium of dielectric constant K is

introduced between plates, the capacity of

capacitor becomes

A. 
C

K

https://dl.doubtnut.com/l/_VXG6CU6MsvIA
https://dl.doubtnut.com/l/_DwiVeFUsar0r


B. 

C. 

D. KC

Answer: D

Watch Video Solution

C

K2

M 2C

430. Two capacitors of capacities  and 

 are connected in series with battery of

200V. The voltage across them are in the ratio

of

1μF

4μF

https://dl.doubtnut.com/l/_DwiVeFUsar0r
https://dl.doubtnut.com/l/_VfRAr4p1T61y


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

2

2

1

1

4

4
1

431. Energy stored in a condenser of capacity

, charged to 6kV is used to lift mass of 1010uF

https://dl.doubtnut.com/l/_VfRAr4p1T61y
https://dl.doubtnut.com/l/_xreiqIijGaak


gm. The height to which the body can be

raised is (Take 

A. 180 m

B. 18 m

C. 1.8 m

D. 1800 m

Answer: D

Watch Video Solution

g = 10m/s2)

https://dl.doubtnut.com/l/_xreiqIijGaak


432. Three charges +5C, +7C and -4C are

situated within a closed surface and charges

-5C, -7C and +4C are situated outisde the

surace what is the T.N.E.I. over the closed

surface?

A. 

B. 0

C. 

D. 10 C

Answer: C

−8C

+8C

https://dl.doubtnut.com/l/_lc9bRpVAZFjt


Watch Video Solution

433. Electric intensity at a point just outside a

charged conductor of any shape is

A. 

B. 

C. 

D. 

Answer: A

σ

∈0 K

σ

2 ∈0 K

2σ

∈ K

σ2

2 ∈ K

https://dl.doubtnut.com/l/_lc9bRpVAZFjt
https://dl.doubtnut.com/l/_1yVC1GYfz7Mv


Watch Video Solution

434. A capacitor of  is given a potential

difference of 500 V and a  capacitor is

charged through a potential difference of 200

V. What is the potential across each when they

are connected in parallel ?

A. 200 V

B. 400 V

C. 600 V

D. 800 V

20μF

10μF

https://dl.doubtnut.com/l/_1yVC1GYfz7Mv
https://dl.doubtnut.com/l/_5xXDMQUQm5gX


Answer: B

Watch Video Solution

435. A string is compressed by 2 mm by a force

of 8 N and condenser is charged through a

potential difference of 200 V possess a charge

of 80 microcoulomb the ratio of energy stored

in the two bodies is

A. 1

B. 3/2

https://dl.doubtnut.com/l/_5xXDMQUQm5gX
https://dl.doubtnut.com/l/_wD77daOXUS5x


C. 2

D. 

Answer: A

Watch Video Solution

1/2

436. Condenser is a device used to store

A. large charge at low potential

B. large charge at high potential

C. less charge at low potential

https://dl.doubtnut.com/l/_wD77daOXUS5x
https://dl.doubtnut.com/l/_6g2VhrUak4su


D. less charge at high potential

Answer: A

Watch Video Solution

437. Two capacitor each of capacity  are

connected in series and third capacitor of

capacity  is connected in parallel with the

combination. The equivalent capacitance of

the arrangement is

A. 

4μF

4μF

12μF

https://dl.doubtnut.com/l/_6g2VhrUak4su
https://dl.doubtnut.com/l/_C1mMNT7C4hnM


B. 

C. 

D. 

Answer: C

Watch Video Solution

8μF

6μF

2.65μF

438. Three capacitor of capacitance  are

connected in parallel to which a capacitor of

capacitance C is connected in series. Effective

C(μF )

https://dl.doubtnut.com/l/_C1mMNT7C4hnM
https://dl.doubtnut.com/l/_Oola4qoVg4RX


capacitance is 3.75. then capacity off each

capacitor is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4μF

5μF

6μF

8μF

https://dl.doubtnut.com/l/_Oola4qoVg4RX


439. If dielectric is inserted in charged

capacitor ( battery removed ), then quantity

that remains constant is

A. capacitance

B. potential

C. intensity

D. charge

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_vJoU7SOsoRKg


440. A charged oil drop is suspended in a

uniform filed of  so that it neither

falls nor rises. The charge on the drop will be

(Take the mass of the charge

 and )

A. 

B. 

C. 

D. 

Answer: A

3 × 104v/m

= 9.9 × 10− 15kg g = 10m/s2

3.3 × 10− 18C

3.2 × 10− 18C

1.6 × 10− 18C

4.8 × 10− 18C

https://dl.doubtnut.com/l/_jmOllyVzUZPh


Watch Video Solution

441. In a parallel plate capacitor , the capacity

increases if

A. area of plate is decreased

B. distance between plate increases

C. area of plate is increased

D. dielectric constant decreases

Answer: C

https://dl.doubtnut.com/l/_jmOllyVzUZPh
https://dl.doubtnut.com/l/_8NqFk2BhZrWF


Watch Video Solution

442. The electric intensity of outside a charged

sphere of radius R at a distance  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

r(r > R)

σR2

ε0r
2

σr2

ε0R
2

σR

ε0r

σr

ε0R

https://dl.doubtnut.com/l/_8NqFk2BhZrWF
https://dl.doubtnut.com/l/_W9dS7onxxV1X


443. Capacity of a capacitor is . When it is

charged from  C to  C , change in the

energy stored is

A. 2500 J

B. 

C. 

D. 

Answer: A

Watch Video Solution

48μF

0.1 0.5

2.5 × 10− 3J

2.5 × 106J

2.42 × 10− 2

https://dl.doubtnut.com/l/_W9dS7onxxV1X
https://dl.doubtnut.com/l/_mle4X0N6QEWc


444. A charged cylinder of radius 3 mm has

surface density of charge . It is

placed in a medium of dielectric constant 6.28.

The electric intensity at a point at a distance

of 1.5 M from its axis is

A. 

B. 

C. 

D. 

4μC /m2

1.44V /m

2.44V /m

3V /m

0.5V /m

https://dl.doubtnut.com/l/_mle4X0N6QEWc
https://dl.doubtnut.com/l/_L77ocWFVE2oR


Answer: A

Watch Video Solution

445. If A is the area of each plate, charge on it

is q and potential difference is V then the

distance between the parallel plate capacitor

is

A. 

B. 

C. 

ε0AV

2q

ε0AV

q

2ε0AV

q

https://dl.doubtnut.com/l/_L77ocWFVE2oR
https://dl.doubtnut.com/l/_NaybfFgxuWeN


D. 

Answer: B

Watch Video Solution

AV

q

446. If n identical capacitors are connected in

series and then in parallel then the ratio of

effective capacity in parallel and in series

combination i.e.  is

A. n

CP

CS

https://dl.doubtnut.com/l/_NaybfFgxuWeN
https://dl.doubtnut.com/l/_oi4M5XSGMkJ6


B. 

C. 

D. 

Answer: C

Watch Video Solution

1/n

n2

1/n2

447. Two identical capacitors are first

connected in series and then in parallel. The

difference between their effective capacities is

. The capacity of each capacitor is3μF

https://dl.doubtnut.com/l/_oi4M5XSGMkJ6
https://dl.doubtnut.com/l/_Br9uko8k0ZHz


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3μF

4μE

2μF

5μE

448. Van de Graff generator produces

A. high voltage and high current

https://dl.doubtnut.com/l/_Br9uko8k0ZHz
https://dl.doubtnut.com/l/_ytb3g7FrLuQd


B. high voltage and low current

C. low voltage and high current

D. low voltage and low current

Answer: B

Watch Video Solution

449. A, B and C are the points in a uniform

electric field. The electric potential is 

https://dl.doubtnut.com/l/_ytb3g7FrLuQd
https://dl.doubtnut.com/l/_aMbYXXGkRBmq


A. maximum at B

B. maximum at C

C. same at all the three points A, B and C

D. maximum at A

Answer: A

View Text Solution

450. Two pith balls carrying equal charges are

suspended from a common point by strings of

equal length, the equilibrium separation

https://dl.doubtnut.com/l/_aMbYXXGkRBmq
https://dl.doubtnut.com/l/_bQVHxPmSQg5F


between them is r. Now the strings are rigidly

clamped at half the height. The equilibrium

seperation on between the balls now become 

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

( )
r

3√2

( )
2r

√3

( )
2r

3

( )

2
r

√2

https://dl.doubtnut.com/l/_bQVHxPmSQg5F


451. Surface density of charge on a sphere of

radius R in terms of electric intensity E at a

distance in free space is 

 = permittivity of free space)

A. 

B. 

C. 

D. 

Answer: C

(ε0

∈0 E( )
2

R

r

∈0 ER

r2

∈0 E( )
2r

R

∈0 Er

R2

https://dl.doubtnut.com/l/_bQVHxPmSQg5F
https://dl.doubtnut.com/l/_pLly6JbNoQQW


Watch Video Solution

452. Two concentric spheres kept in air have

radii R and r. They have similar charge and

equal surface charge density . The electrical

potential at their common centre is (where,

 permittivity of free space)

A. 

B. 

C. 

σ

ε0 =

σ(R + r)

∈0

σ(R − r)

∈0

σ(R + r)

2 ∈0

https://dl.doubtnut.com/l/_pLly6JbNoQQW
https://dl.doubtnut.com/l/_4n0JP1VAjoeV


D. 

Answer: A

Watch Video Solution

σ(R + r)

4 ∈0

453. In air, a charged soap bubble of radius 'r'

is in equilibrium having outside and inside

pressures being equal. The charge on the drop

is (  = permittivity of free space, T = surface

tension of soap solution)

A. 

∈0

4πr2√
2T ∈0

r

https://dl.doubtnut.com/l/_4n0JP1VAjoeV
https://dl.doubtnut.com/l/_7eZ313lT82gj


B. 

C. 

D. 

Answer: D

Watch Video Solution

4πr2√
4T ∈0

r

4πr2√
6T ∈0

r

4πr2√
8T ∈0

r

454. Two charges of equal magnitude q are

placed in air at a distance 2a apart and third

charge  is placed at mid-point . The−2q

https://dl.doubtnut.com/l/_7eZ313lT82gj
https://dl.doubtnut.com/l/_L9DNSNtWIViF


potential energy of the system is  =

permittivity of free space)

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(ε0

−
q2

8π ∈0 a

−
3q2

8π ∈0 a

−
5q2

8π ∈0 a

−
7q2

8π ∈0 a

https://dl.doubtnut.com/l/_L9DNSNtWIViF


455. The differeence in the effective capacity of

two similar capacitor when joined in series

and then in paralllel is 6  F the capacity of

each capacitor is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

μ

2μF

4μF

8μF

16μF

https://dl.doubtnut.com/l/_24oHkdBjeRjc


Watch Video Solution

456. An electron of mass m and charge q is

accelerated from rest in a uniform electric field

of strength E. The velocity acquired by it as it

travels a distance l is

A. 

B. 

C. 

D. 

[ ]
1 / 22Eql

m

[ ]
1 / 22Eq

ml

[ ]
1 / 2

2Em

ql

[ ]
1 / 2

Eq

ml

https://dl.doubtnut.com/l/_24oHkdBjeRjc
https://dl.doubtnut.com/l/_rzqcgFQaTaPI


Answer: A

Watch Video Solution

457. The electric field intensity at point near

and outside the surface of a charged

conductor of any shape is  the electric field

intensity due to uniformly charged infinite

thin plane sheet is  the relation between 

and  is

A. 

E1

E2 E1

E2

2E1 = E2

https://dl.doubtnut.com/l/_rzqcgFQaTaPI
https://dl.doubtnut.com/l/_FtWfnPXM69gz


B. 

C. 

D. 

Answer: C

Watch Video Solution

E1 = E2

E1 = 2E2

E1 = 4E2

458. A capacitor  F is connected is

series with another capacitor F the

combination is connected across DC source of

200 V the ratio of potential across  to  is

C1 = 4μ

C2 = 1μ

C2 C1

https://dl.doubtnut.com/l/_FtWfnPXM69gz
https://dl.doubtnut.com/l/_ZP2IMZ5SCadr


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2: 1

4: 1

8: 1

16: 1

https://dl.doubtnut.com/l/_ZP2IMZ5SCadr

